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BOOKS - NIKITA MATHS (HINGLISH)

LINE

MULTIPLE CHOICE QUESTIONS

1. Lines  will lie in a Plane if

A. 

B. 

C. 

→
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a 2 + s
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b 2
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https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_a5aBgDtzL7H9


D. 

Answer: C

Watch Video Solution
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(
→
a 2 ×

→
a 1). (

→
b 2 −

→
b 1)

→
b 1 ×

→
b 2

2. The equation of X-axis is of the form

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

= =
x

1

y

0
z

0

= =
x

0

y

1
z

1
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x

1

y

1
z

1

= =
x

0

y

0
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1

https://dl.doubtnut.com/l/_a5aBgDtzL7H9
https://dl.doubtnut.com/l/_IjXPQHZiHLgg


3. The equation of a line passing through (a, b, c) 

and parallel tp z-axis is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= =
x − a

1

y − b

1

z − c

0

= =
x − a

0

y − b

0

z − c

1

= =
x − a

0

y − b

1

z − c

0

= =
x − a

1

y − b

0

z − c

1

4. A symmetrical form of the line of intersection of the planes 

and  is

A. 

B. 

C. 

x = ay + b

z = cy + d

= =
x − b

a

y

1
z − d

c

= =
x − b

a

y

b

z − d

c

= =
x − a

b

y

1

z − c

d

https://dl.doubtnut.com/l/_c2fjmllKeS4Q
https://dl.doubtnut.com/l/_Mngl4UuPiGRX


D. 

Answer: A

Watch Video Solution

= =
x + a

b

y

1

z + c

d

5. The equation of a line passing through the point (4,-2,5) and parallel to

the vector  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3 î − ĵ + 2k̂

(4 î − 2ĵ + 5k̂) + λ(2 î − ĵ + 3k̂)

(4 î − 2ĵ + 5k̂) + λ( î − 2ĵ + 3k̂)

(4 î − 2ĵ − 5k̂) + λ(3 î − ĵ − 2k̂)

(4 î − 2ĵ + 5k̂) + λ(3 î − ĵ + 2k̂)

https://dl.doubtnut.com/l/_Mngl4UuPiGRX
https://dl.doubtnut.com/l/_EhXI1xlRZ4CY


6. The cartesian equation of a line passing through the point (3,2,1) and is

parallel to the vector  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2 î + 2ĵ − 3k̂

(2 î + 2ĵ − 3k̂) + λ(3 î + 2ĵ + k̂)

(3 î + 2ĵ + k̂) + λ(2 î + 2ĵ − 3k̂)

(2 î + 2ĵ − 3k̂) + λ( − î − 4k̂)

(3 î + 2ĵ + k̂) + λ( − î − 4k̂)

7. Find the vector equation of a line parallel to the vector 

and passing through a point A with position vector .

A. 

B. 

C. 

2 î − ĵ + 2k̂

3 î + ĵ − k̂

(3 î + ĵ − k̂) + λ(2 î − î + 2k̂)

(2 î − ĵ + 2k̂) + λ(3 î + ĵ − k̂)

( î + 2ĵ − 3k̂) + λ(2 î − ĵ + 2k̂)

https://dl.doubtnut.com/l/_SIGipUa7slCd
https://dl.doubtnut.com/l/_rLh4GOFLtr8Q


D. 

Answer: A

Watch Video Solution

(2 î − ĵ + 2k̂) + λ( î + 2ĵ − 3k̂)

8. The cartesian form of equation of a line passing through the point with

position vector  and is in the direction of ,is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4 î − ĵ + 2k̂ −2 î + ĵ + k̂

(4 î − ĵ − 2k̂) + λ( − 2 î + ĵ + k̂)

( − 2 î + ĵ + k̂) + λ(4 î + ĵ − 2k̂)

(4 î − ĵ + 2k̂) + λ( − 2 î + ĵ + k̂)

( − 2 î + ĵ + k̂) + λ(4 î + ĵ + 2k̂)

https://dl.doubtnut.com/l/_rLh4GOFLtr8Q
https://dl.doubtnut.com/l/_Eu1948bwGJJn


9. The vector equation of a line passing through the point with position

vector  and is in the direction of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 î − ĵ − 4k̂ î − 2ĵ + k̂

(2 î − ĵ − 4k̂) + λ( î − 2ĵ + k̂)

( î + ĵ − 5k̂) + λ( î − 2ĵ + k̂)

( − î − ĵ + 5k̂) + λ( î − 2ĵ + k̂)

( − 2 î + ĵ + k̂) + λ(4 î + ĵ + 2k̂)

10. The cartesian equation of a line passing through the point having

position vector  and parallel to the line passing joining the

points  and , is

A. 

B. 

2 î + ĵ − k̂

− î + ĵ + 4k̂ î + 2ĵ + 2k̂

(2 î + ĵ − 2k̂) + λ(2 î + ĵ − k̂)

(2 î + ĵ − 2k̂) + λ( − 2 î + ĵ + k̂)

https://dl.doubtnut.com/l/_eOUlaKmHbJ7v
https://dl.doubtnut.com/l/_6lRRZoCzywGi


C. 

D. 

Answer: C

Watch Video Solution

(2 î + ĵ − k̂) + λ(2 î + ĵ − 2k̂)

(2 î + ĵ − k̂) + λ( − 2 î + ĵ + 2k̂)

11. The vector equation of the line passing through a point with position

vector  and parallel to the line joining the points with position

vectors  is 

 where x is equal to

A. 

B. 

C. 

D. 

Answer: D

W t h Vid S l ti

2 î − ĵ + k̂

− î + 4ĵ + k̂ and î + 2ĵ + 2k̂

r = (2 î − ĵ + k̂) + λ(xî − 2ĵ + k̂)

(2 î + 2ĵ − k̂) + λ(2 î + ĵ + k̂)

(2 î + ĵ − k̂) + λ(2 î + 2ĵ − 2k̂)

(2 î − 2ĵ + k̂) + λ(2 î − ĵ + k̂)

(2 î − ĵ + k̂) + λ(2 î − 2ĵ + k̂)

https://dl.doubtnut.com/l/_6lRRZoCzywGi
https://dl.doubtnut.com/l/_IVRbTADDMG7w


Watch Video Solution

12. The vector equation of a line passing through the point (5,4,3) and

having directions ratios  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−3, 4, 2

−(5 î − 4ĵ − 3k̂) + λ( − 3 î + 4ĵ + 2k̂)

(5 î + 4ĵ + 3k̂) + λ( − 3 î + 4ĵ + 2k̂)

( − 3 î + 4ĵ + 2k̂) + λ( − 5 î − 4ĵ − 3k̂)

( − 3 î + 4ĵ + 2k̂) + λ( − 5 î − 4ĵ − 3k̂)

13. The equation of a line passing through the point (4,-2,5) and parallel

to the vector  is

A. 

3 î − ĵ + 2k̂

= =
x − 4

3

y + 2

−1

z − 5

2

https://dl.doubtnut.com/l/_IVRbTADDMG7w
https://dl.doubtnut.com/l/_pQA4MBOiBQqt
https://dl.doubtnut.com/l/_lAjx59J3tFjR


B. 

C. 

D. 

Answer: A

Watch Video Solution

= =
x + 4

3

y − 2

−1

z + 5

2

= =
x − 3

4

y + 1

−2

z − 2

5

= =
x + 3

4

y − 1

−2

z + 2

5

14. The cartesian equation of a line passing through the point (3,2,1) and

is parallel to the vector  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2 î + 2ĵ − 3k̂

= =
x + 3

2

y + 2

2

z + 1

−3

= =
x − 3

2

y − 2

2

z − 1

−3

= =
x + 2

−3

y + 2

2

z − 3

1

= =
x − 2

3

y − 2

2

z + 3

1

https://dl.doubtnut.com/l/_lAjx59J3tFjR
https://dl.doubtnut.com/l/_xEca78RmMFDZ


15. The cartesian form of equation of a line passing through the point

with position vector  and is in the direction of 

,is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4 î − ĵ + 2k̂ −2 î + ĵ + k̂

= =
x − 4

−2

y + 1

1

z − 2

1

= =
x + 4

−2

y − 1

1

z + 2

1

= =
x + 2

4

y − 1

−1

z − 1

2

= =
x − 2

−4

y + 1

1

z + 1

−2

16. Find the equation of the line in Cartesiasn form that passes through

the point with positoin vector  and is in the direction 2 î − ĵ + 4k̂

î + 2ĵ − k̂.

https://dl.doubtnut.com/l/_xEca78RmMFDZ
https://dl.doubtnut.com/l/_NZZ5reLYXg4R
https://dl.doubtnut.com/l/_piMULJX2u04w


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

= =
x − 2

−1

y + 1

2
z + 4

1

= =
x − 2

1

y + 1

2
z + 4
−1

= =
x − 2

1

y + 1

−2
z + 4

1

= =
x + 2

1

y − 1

−2
z − 4

1

17. The cartesian equation of a line passing through the point having

position vector  and parallel to the line passing joining the

points  and , is

A. 

B. 

C. 

D. 

2 î + ĵ − k̂

− î + ĵ + 4k̂ î + 2ĵ + 2k̂

= =
x − 2

2

y − 1

1

z + 1

−2

= =
x + 2

2

y + 1

1

z − 1

−2

= =
x − 2

−2

y − 1

1

z + 1

2

= =
x + 2

−2

y + 1

1

z − 2

2

https://dl.doubtnut.com/l/_piMULJX2u04w
https://dl.doubtnut.com/l/_T8Q3UGhUr0bX


Answer: A

Watch Video Solution

18. The symmetric form of the line given by 

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

→
r = (2 î − ĵ + 3k̂) + λ(3 î − 4ĵ + 5k̂)

= =
x − 2

3

y + 1

−4

z − 3

5

= =
x + 2

3

y − 1

−4

z − 1

−2

= =
x − 2

−2

y − 1

1

z + 1

2

= =
x + 2

−2

y + 1

1

z − 2

2

19. The cartesian equation of line passing through the points (5,4,3) and

having direction ratios  is−3, 4, 2

https://dl.doubtnut.com/l/_T8Q3UGhUr0bX
https://dl.doubtnut.com/l/_vz5kaOaO7XNd
https://dl.doubtnut.com/l/_F4neUw9CoxAm


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

= =
x + 5

−3

y + 4

−4

z + 3

2

= =
x + 5

−3

y + 4

4

z + 3

2

= =
x − 5

−3

y − 4

−4

z − 3

2

= =
x − 5

−3

y − 4

4

z − 3

2

20. Find the equation of line equally inclined to co-ordinate axes and

passes through (-5, 1.-2).

A. 

B. 

C. 

D. 

Answer: D

x − 5 = y + 1 = z − 2

√3(x + 5) = y − 1 = √3(z + 2)

x + 5 = 1 − y = z + 2

x + 5 = y − 1 = z + 2

https://dl.doubtnut.com/l/_F4neUw9CoxAm
https://dl.doubtnut.com/l/_2LNTbRmTjLWl


Watch Video Solution

21. The vector equations of a line passing through the origin and the

point (5,-2,3) is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

λ( − 5 î + 2ĵ − 3k̂)

λ(5 î − 2ĵ + 3k̂)

−5 î + 2ĵ − 3k̂

5 î − 2ĵ + 3k̂

22. Find the vector wuation of the line passing through the points A(3,4,

-7) and B (6,-1, 1)

A. (6 î − ĵ + k̂) + λ(3 î − 5ĵ + 8k̂)

https://dl.doubtnut.com/l/_2LNTbRmTjLWl
https://dl.doubtnut.com/l/_qwh1yEr8TpfX
https://dl.doubtnut.com/l/_y7fQb12n63rK


B. 

C. 

D. 

Answer: B

Watch Video Solution

(3 î + 4ĵ − 7k̂) + λ(3 î − 5ĵ + 8k̂)

(6 î − ĵ + k̂) + λ( − 3 î + 5ĵ − 8k̂)

(3 î + 4ĵ − 7k̂) + λ( − 3 î + 5ĵ − 8k̂)

23. the line passing through the points  and 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(3, − 2 − − 5), (3, − 2, 6)

(3 î − 2ĵ − 5k̂) + λ( − 11k̂)

(3 î − 2ĵ − 5k̂) + λ(11k̂)

(3 î − 2ĵ − 5k̂) + λ( − 4ĵ)

(3 î − 2ĵ − 5k̂) + λ(6 î)

https://dl.doubtnut.com/l/_y7fQb12n63rK
https://dl.doubtnut.com/l/_nIJMrDYFhPTb
https://dl.doubtnut.com/l/_ncmejxIYpy09


24. The vector equation of a line passing through the points 

and (1,1,2) is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( − 2, 3, 4)

( − 2 î + 3ĵ + 4k̂) + λ(3 î − 2ĵ − 2k̂)

−(2 î + 3ĵ + 4k̂) + λ(3 î − 2ĵ + 2k̂)

( − 2 î + 3ĵ + 4k̂) + λ(3 î − 2ĵ + 2k̂)

( − 2 î + 3ĵ + 4k̂) + λ(3 î + 2ĵ + 2k̂)

25. The vector equation of a line passing through the points A(4,2,1) and

B(2,-1,3) is

A. 

B. 

C. 

( − 4 î − 2ĵ − k̂) + λ(2 î + 3ĵ − 2k̂)

(4 î + 2ĵ + k̂) + λ( − 2 î − 3ĵ + 2k̂)

( − 4 î − 2ĵ − k̂) + λ(2 î + 3ĵ − 4k̂)

https://dl.doubtnut.com/l/_ncmejxIYpy09
https://dl.doubtnut.com/l/_9sT5F5J3FZG4


D. 

Answer: B

Watch Video Solution

(4 î + 2ĵ + k̂) + λ( − 2 î − 3ĵ + 4k̂)

26. A line passing through the points A (-2 , -1 , 5) and B ( 1, 3 , -1) ,find the

equation of the line in parametric form. Also, write the equation in non -

parametric form.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

→
r × (3 î + 4ĵ − 6k̂) = 14 î + 3ĵ + 5k̂

→
r × (3 î + 4ĵ − 6k̂) = 14 î − 3ĵ − 5k̂

→
r × (3 î + 4ĵ − 6k̂) = 14 î − 3ĵ + 5k̂

→
r × (3 î + 4ĵ − 6k̂) = − 14 î + 3ĵ − 5k̂

https://dl.doubtnut.com/l/_9sT5F5J3FZG4
https://dl.doubtnut.com/l/_DUm4oUe4V4cH
https://dl.doubtnut.com/l/_U5l0d47RccBj


27. The cartesian equation of a line passing through the origin and point

(5,-2,3) is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

= =
x − 5

5

y + 2

−2

z − 3

3

= =
x − 5

−5

y − 2

−2

z − 3

3

= =
x

5

y

−2
z

3

= =
x

−5

y

2
z

3

28. Find the vector wuation of the line passing through the points A(3,4,

-7) and B (6,-1, 1)

A. 

B. 

C. 

= =
x + 3

−3

y + 4

5
z − 7

8

= =
x − 3

−3

y − 4

5
z + 7

8

= =
x + 3

3

y + 4

−5
z − 7

8

https://dl.doubtnut.com/l/_U5l0d47RccBj
https://dl.doubtnut.com/l/_Nixe3P76NnLm


D. 

Answer: D

Watch Video Solution

= =
x − 3

3

y − 4

−5
z + 7

8

29. the line passing through the points  and 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(3, − 2 − − 5), (3, − 2, 6)

= =
x + 3

0

y − 2

0

z − 15

−11

= =
x + 3

0

y − 2

0

z − 5

11

= =
x − 3

0

y + 2

0

z + 5

−11

= =
x − 3

0

y + 2

0

z + 5

11

https://dl.doubtnut.com/l/_Nixe3P76NnLm
https://dl.doubtnut.com/l/_I4OEDip2Jpn8


30. The equation of a line passing through the points  and

B(2,-1,3) is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A(4, 2, 1)

= =
x − 4

−2

y − 2

3

z − 1

2

= =
x + 4

−2

y − 2

0

z − 5

11

= =
x − 4

2

y − 2

3

z − 1

−2

= =
x + 4

2

y + 2

3

z + 1

−2

31. The equation of a line passing through the points  and 

 is

A. 

B. 

C. 

A(2, − 1, 1)

B(3, 1, 1)

= , z = 1
x − 2

1

y + 1

2

= , z = 1
x − 2

1

y − 1

2

= , z = − 1
x − 2

1

y + 1

2

https://dl.doubtnut.com/l/_F1lXhl6qcAnU
https://dl.doubtnut.com/l/_kKkuQ82DUTnN


D. 

Answer: A

Watch Video Solution

= =
x + 4

2

y + 2

3

z + 1

−2

32. If the line passing through the points (5,1,p) and (3,q,1) crosses the YZ

plane at the point , then

A. p=6, q=4

B. 

C. 

D. 

Answer: A

Watch Video Solution

(0, , − )
17
2

13

2

p = − 6, q = 4

p = 6, q = − 4

p = − 6, q = − 4

https://dl.doubtnut.com/l/_kKkuQ82DUTnN
https://dl.doubtnut.com/l/_85bey7qtcAL9


33. If x co-cordinate of a point on the line passing through the points

(2,2,1) and (5,1,-2) is 2, then the y co-cordinate of the point is

A. 

B. 3

C. 2

D. 

Answer: C

Watch Video Solution

−3

−2

34. The equation of a line passing through the points (a,b,c) and(a-b,b-c, c-

a) is

A. 

B. 

C. 

= =
x − a

a

y − b

b

z − c

c

= =
x − a

b

y − b

c

z − c

a

= =
x − a

a − b

y − b

b − c

z − c

c − a

https://dl.doubtnut.com/l/_cmmedGPmeoXv
https://dl.doubtnut.com/l/_hD6xmKU32SNT


D. 

Answer: B

Watch Video Solution

= =
x − a

2a − b

y − b

2b − c

z − c

2c − a

35. Find the cartesian equation of the line which passes through the

point  and parallel and line are . So, the equation of

line is, 

.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( − 2, 4, − 5) (3, 5, 6)

= =
x − ( − 2)

3

y − 4

5

z − ( − 5)

6

= (y + 4) =
x − 2

3

z − 5

6

= =
x + 2

3

y − 4

5

z + 5

6

= =
x − 2

3

y + 3

5

z + 5

6

= =
x + 2

3

y + 4

5

z + 5

6

https://dl.doubtnut.com/l/_hD6xmKU32SNT
https://dl.doubtnut.com/l/_iJvL5sddYuBk


36. The equation of a line passing through the point  with the

direction angle is  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(3, − 2, 1)

135∘ , 60∘ , 120∘

= =
x − 3

√2

y + 2

−1

z − 1

1

= =
x − 3

−1

y + 2

√2

z − 1

√2

= =
x + 3

−√2

y + 2

1

z − 1

1

= =
x + 3

1

y + 2

1

z − 1

√2

37. The vector equation of a line passing through the point 

and perpendicular to the vectors  and  is

A. 

B. 

C. 

î + 2ĵ + 3k̂

î + ĵ + k̂ 2 î − ĵ + k̂

( î + 2ĵ + 3k̂) + λ( − 2 î − ĵ + 3k̂)

( î + 2ĵ + 3k̂) + λ(2 î + ĵ − k̂)

( î + 2ĵ + 3k̂) + λ(2 î + ĵ − k̂)

https://dl.doubtnut.com/l/_z5dUegnhkujS
https://dl.doubtnut.com/l/_syhCMlaZGBvv


D. 

Answer: B

Watch Video Solution

( î + 2ĵ + 3k̂) + λ(2 î − ĵ − 2k̂)

38. Find the vector equation of the line passing through the point

 and perpendicular to the vectors 

.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2 î + ĵ − 3k̂ î + ĵ + k̂ and î + 2ĵ − k̂

(2 î + ĵ − 3k̂) + λ( − 3 î + 2ĵ − k̂)

(2 î + ĵ − 3k̂) + λ(3 î + 2ĵ − k̂)

(2 î + ĵ − 3k̂) + λ( − 3 î − 2ĵ + k̂)

(2 î + ĵ − 3k̂) + λ( − 3 î + 2ĵ + k̂)

https://dl.doubtnut.com/l/_syhCMlaZGBvv
https://dl.doubtnut.com/l/_m9aYjvzLGzKg
https://dl.doubtnut.com/l/_3yvAuMSxUyb0


39. Equation of the line passing through the point ( 2,3, -4) and

perpendicular to XZ-plane is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= =
x − 2

0

y − 3

1

z + 1

0

= =
x − 2

1

y − 3

0

z + 1

0

= =
x − 2

0

y − 3

0

z + 1

1

= =
x − 2

1

y − 3

1

z + 1

1

40. The equation of a line passing through point  and

perpendicular to ZX plane is

A. 

B. 

C. 

(2, 3, − 1)

= =
x − 2

0

y − 3

1

z + 1

0

= =
x − 2

1

y − 3

0

z + 1

0

= =
x − 2

0

y − 3

0

z + 1

1

https://dl.doubtnut.com/l/_3yvAuMSxUyb0
https://dl.doubtnut.com/l/_rGdf3QtW9fks


D. 

Answer: A

Watch Video Solution

= =
x − 2

1

y − 3

1

z + 1

1

41. The equation of a line passing through point (2,3,-1) and perpendicular

to XY plane is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

= =
x − 2

0

y − 3

1

z + 1

0

= =
x − 2

1

y − 3

0

z + 1

0

= =
x − 2

0

y − 3

0

z + 1

1

= =
x − 2

1

y − 3

1

z + 1

1

https://dl.doubtnut.com/l/_rGdf3QtW9fks
https://dl.doubtnut.com/l/_09v9SlojJtqs


42. The equation of a line passing through (a, b, c) 

and parallel tp z-axis is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

− =
x − a

l

y − b

m

z − c

0

= =
x − a

0

y − b

0

z − c

n

= =
x − a

l

y − b

m

z − c

1

= =
x − a

0

y − b

m

z − c

0

43. The equation of a line passing through the point (-1,4,6) and

perpendicular to the lines with direction ratios  and 4,3,-1 is

A. 

B. 

C. 

2, − 6, − 3

= =
x + 1

3

y − 4

−2

z − 6

6

= =
x + 1

3

y − 4

2

z − 6

6

= =
x − 1

3

y + 4

−2

z + 6

6

https://dl.doubtnut.com/l/_HYDa5dOpQKVH
https://dl.doubtnut.com/l/_Mo4lfwnZTrHJ


D. 

Answer: A

Watch Video Solution

= =
x − 1

3

y + 4

2

z + 6

6

44. The equation of a line passing through the point (3,-1,4) and

perpendicular to the lines with direction ratios 3,2,-4 and 2,-3,2 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

= =
x + 3

8

y − 1

−14
z + 4

13

= =
x − 3

8

y + 1

−14
z − 4

13

= =
x + 3

8

y − 1

14
z + 4

13

= =
x − 3

8

y + 1

14
z − 4

13

https://dl.doubtnut.com/l/_Mo4lfwnZTrHJ
https://dl.doubtnut.com/l/_3qdJ9sHmX4XD


45. Find the equation of the line passing through the point (3,1,2) and

perpendicular to the lines  and 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

= =
x − 1

1

y − 2

2

z − 3

3

= =
x

−3

y

2
z

5

= =
x − 2

2

y − 1

−7

z − 3

4

= =
x + 2

2

y + 1

−7

z + 3

4

= =
x − 2

2

y − 1

−7

z − 3

2

= =
x + 2

2

y + 1

−7

z + 3

2

46. Find the equation of the line passing through the point (3,1,2) and

perpendicular to the lines  and 

A. 

= =
x − 1

1

y − 2

2

z − 3

3

= =
x

−3

y

2

z

5

= =
x − 3

2

y − 1

−7

z − 2

2

https://dl.doubtnut.com/l/_dB5fesorR64V
https://dl.doubtnut.com/l/_V1MK2oAdtyUH


B. 

C. 

D. 

Answer: C

Watch Video Solution

= =
x + 3

2

y + 1

7

z − 2

2

= =
x − 3

2

y − 1

−7

z − 2

4

= =
x + 3

2

y + 1

−7

z + 2

4

47. Find the equation of the perpendicular from point  to line

. Also, find the coordinates of foot of

perpendicular and the length of perpendicular.

A. 

B. 

C. 

D. 

Answer: C

(3, − 1, 11)

= =
x

2

y − 2

3

z − 3

4

= =
x + 1

1

y − 3

−6

z + 11

3

= =
x − 3

2

y − 1

−6

z + 11

3

= =
x − 3

1

y + 1

−6

z − 11

4

= =
x − 3

2

y + 1

6

z − 11

7

https://dl.doubtnut.com/l/_V1MK2oAdtyUH
https://dl.doubtnut.com/l/_pIciRWzA80iq


Watch Video Solution

48. The equation of line passing through (3,-1,2) and perpendicular to the

lines 

 


and  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

→
r = ( î + ĵ − k̂) + λ(2 î − 2ĵ + k̂)

→
r = (2 î + ĵ − 3k̂) + μ( î − 2ĵ + 2k̂)

(3 î − ĵ + 2k̂) + t(2 î + 3ĵ + 2k̂)

(3 î − ĵ + 2k̂) + t(2 î + 3ĵ − 2k̂)

(3 î − ĵ + 2k̂) + t(2 î − 3ĵ + 2k̂)

(3 î − ĵ + 2k̂) + t( − 2 î + 3ĵ + 2k̂)

49. The vector equation of the line passing through the point (-1, -1 ,2) and

parallel to the line 2x - 2= 3y +1 = 6z -2 is

https://dl.doubtnut.com/l/_pIciRWzA80iq
https://dl.doubtnut.com/l/_yTIVpmKLJqJu
https://dl.doubtnut.com/l/_jzAg20l5xXk8


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( − î − ĵ + 2k̂) + λ(3 î + 2ĵ + k̂)

( − î − ĵ + 2k̂) + λ( î + 2ĵ + 3k̂)

( − î − ĵ + 2k̂) + λ( î + 2ĵ + 3k̂)

( − î − ĵ + 2k̂) + λ( î + 2ĵ + 3k̂)

50. The cartesian equation of a line is  , find its

vector equation .

A. 

B. 

C. 

D. 

Answer: B

= =
x − 6

2

y + 4

7

z − 5

3

( − 6 î + 4ĵ − 5k̂) + λ(2 î + 7ĵ + 3k̂)

(6 î − 4ĵ + 5k̂) + λ(2 î + 7ĵ + 3k̂)

(2 î + 7ĵ + 3k̂) + λ( − 6 î + 4ĵ − 5k̂)

(2 î + 7ĵ + 3k̂) + λ(6 î − 4ĵ + 5k̂)

https://dl.doubtnut.com/l/_jzAg20l5xXk8
https://dl.doubtnut.com/l/_kxkIJsO3WaJ7


Watch Video Solution

51. The vector equation of a line  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

= =
x + 5

3

y + 4

5

z + 5

6

(3 î + 5ĵ + 6k̂) + λ(5 î + 4ĵ + 5k̂)

(5 î + 4ĵ + 5k̂) + λ(3 î + 5ĵ + 6k̂)

( − 5 î − 4ĵ − 5k̂) + λ(3 î + 5ĵ + 6k̂)

(3 î + 5ĵ + 6k̂) + λ( − 5 î − 4ĵ − 5k̂)

52. The cartesian equation of a line is . 

Find the vector equation of the line.

A. 

B. 

3x + 1 = 6y − 2 = 1 − z

( î + ĵ − k̂) + λ(2 î + ĵ − k̂)

( − î + ĵ + k̂) + λ(2 î + ĵ − k̂)

https://dl.doubtnut.com/l/_kxkIJsO3WaJ7
https://dl.doubtnut.com/l/_qcE9gPlIJZ1b
https://dl.doubtnut.com/l/_pmBKciLTwcbH


C. 

D. 

Answer: D

Watch Video Solution

( î + ĵ − k̂) + λ(2 î + ĵ − 6k̂)
1

3

1

6

( − î + ĵ + k̂) + λ(2 î + ĵ − 6k̂)
1

3

1

3

53. The cartesian equation of a line is 3x - 1 = 6y + 2 = 1 - z . Find the vector

equation of the line .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( − î + î + k̂) + λ(2 î + ĵ − 6k̂)
1

3

1

3

( î − ĵ + k̂) + λ(2 î + ĵ − 6k̂)
1

3

1

3

( î + 2ĵ + k̂) + λ(2 î + ĵ − 6k̂)

( î − 2ĵ − k̂) + λ(2 î + ĵ − 6k̂)

https://dl.doubtnut.com/l/_pmBKciLTwcbH
https://dl.doubtnut.com/l/_sTMp0VKmdoa7
https://dl.doubtnut.com/l/_NGGlI7qPJxL0


54. The vector equation of the line passing through the point (-1, -1 ,2) and

parallel to the line 2x - 2= 3y +1 = 6z -2 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( î − ĵ + k̂) + λ(3 î + 2ĵ + k̂)

( î − ĵ + k̂) + λ(3 î + 2ĵ + k̂)
1

3

1

3

( î − ĵ + k̂) + λ(3 î + 2ĵ + k̂)
1

3

1

6

( î − 2ĵ − k̂) + λ(2 î + ĵ − 6k̂)

55. The vector form of the equation of the line 6x - 2 = 3y + 1 = 2z - 2 is

A. 

B. 

C. 

D. 

( î + ĵ − k̂) + λ( î + 2ĵ + 3k̂)
1

3

1

3

( î − ĵ + k̂) + λ( î + 2ĵ + 3k̂)
1

3

1

3

( î + ĵ − 3k̂) + λ( î + 2ĵ + 3k̂)

( î − ĵ + 3k̂) + λ( î + 2ĵ + 3k̂)

https://dl.doubtnut.com/l/_NGGlI7qPJxL0
https://dl.doubtnut.com/l/_jff45mbrvBe6


Answer: B

Watch Video Solution

56. The vector equation of the line  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

= =
x + 2

3

1 − y

−2

z − 5

7

( − 2 î + ĵ − k̂) + λ( î + ĵ)
5

2
4
5

3

5

( − 2 î + ĵ − k̂) + λ( î + ĵ)
5

2

2

5

3

5

( − 2 î + ĵ − k̂) + λ(2 î − ĵ)
5

2

3

5

( − 2 î + ĵ − k̂) + λ(4 î − ĵ)
5

2

3

5

57. The Cartesian equationof a line are . Find

the direction ratios and write down its equation in vector form.

3x + 1 = 6y = 2 = 1 − z

https://dl.doubtnut.com/l/_jff45mbrvBe6
https://dl.doubtnut.com/l/_0ooBKLaAcVdK
https://dl.doubtnut.com/l/_GviauG5OqhyD


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−2, 1, − 3

6, 2, − 1

2, 1, − 6

3, 6, − 1

58. The Cartesian equationof a line are . Find

the direction ratios and write down its equation in vector form.

A. 2,1,-6

B. 

C. 

D. 

Answer: A

3x + 1 = 6y = 2 = 1 − z

−2, 1, − 3

6, 2, − 1

3, 6, − 1

https://dl.doubtnut.com/l/_GviauG5OqhyD
https://dl.doubtnut.com/l/_snydR1TFtUT5


Watch Video Solution

59. The equation of line is  


find its direction ratios and also find the vector 

equation of the line .

A. 1,2,3

B. 3,2,1

C. 6,3,2

D. 2,3,6

Answer: B

Watch Video Solution

2x − 2 = 3y + 1 = 6z − 2

60. Direction cosines of the line  are

A. 

= , z = − 1
x + 2

2

2y − 5

3

, , 0
4
5

3

5

https://dl.doubtnut.com/l/_snydR1TFtUT5
https://dl.doubtnut.com/l/_h5i0IEkxSnKo
https://dl.doubtnut.com/l/_luCWKsWBQqpX


B. 

C. 

D. 

Answer: A

Watch Video Solution

, ,
3

5
4
5

1

5

− , , 0
3

5
4
5

, − ,
4
5

2

5

1

5

61. If  is the equation of the line through 

and , then

A. (0,1,0)

B. (-1,0,1)

C. (1,1,-1)

D. (1,2,-1)

Answer: C

Watch Video Solution

= =
x − 1

l

y − 2

m

z + 1

n

(1, 2, − 1) ( − 1, 0, 1) (l, m, n)

https://dl.doubtnut.com/l/_luCWKsWBQqpX
https://dl.doubtnut.com/l/_PPU49PcDIPNs


62. The straight line 
 is
 Parallel to x-axis

Parallel to the y-axis
Parallel to the z-axis
Perpendicular to the z-axis

A. parallel to X-axis

B. parallel to Y-axis

C. parallel to Z-axis

D. perpendicular to Z-axis

Answer: D

Watch Video Solution

= =
x − 3

3

y − 2

1

z − 1

0

63. The points (-2,3,4), (1,1,2) and (4,-1,0) are

A. collinear

B. non-collinear

C. non-coplanar

https://dl.doubtnut.com/l/_PPU49PcDIPNs
https://dl.doubtnut.com/l/_7cjpl3nFAQoP
https://dl.doubtnut.com/l/_7Hp7VhxDpxyk


D. non-collinear but coplanar

Answer: A

Watch Video Solution

64. The points with position vectors  and 

A. collinear

B. non-collinear

C. non-collinear and non planar

D. non-collinear but coplanar

Answer: A

Watch Video Solution

5 î + 5k̂, − 4 î + 3ĵ − k̂

2 î + ĵ + 3k̂

https://dl.doubtnut.com/l/_7Hp7VhxDpxyk
https://dl.doubtnut.com/l/_A27yfycuYXWi


65. Find , if the points  are

collinear.

A. -6

B. 5

C. 6

D. 10

Answer: D

Watch Video Solution

λ ( − 1, 3, 2), ( − 4, 2, − 2) and (5, 5, λ)

66. If  are direction cosines of three

mutuallyy perpendicular lines then, the value of  is

A. 

l1, m1, n1, l2, m2, n2 and l3, m3, n3

∣
∣
∣
∣

l1 m1 n1

l2 m2 n2

l3 m3 n3

∣
∣

∣
∣

∣
∣
∣
∣

l1 m2 n3

l2 m3 n1

l3 m1 n2

∣
∣

∣
∣

= 0

https://dl.doubtnut.com/l/_wLdOpUhgY57u
https://dl.doubtnut.com/l/_6dKcLgl2zkee


B. 

C. 

D. 

Answer: B

Watch Video Solution

∣
∣
∣
∣

l1 m1 n1

l2 m2 n2

l3 m3 n3

∣
∣

∣
∣

= 0

l1l2l3 + m1m2m3 + n1n2n3 = 0

l1l2l3 = m1m2m3 = n1n2n3

67. The line joining the points  and the line

joining the points intersect at

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

6
→
a − 4

→
b + 4

→
c , − 4

→
c

−
→
a − 2

→
b − 3

→
c ,

→
a + 2

→
b − 5

→
c

−4â

−4b̂

−4ĉ

−4 î − 4b̂ − 4ĉ

https://dl.doubtnut.com/l/_6dKcLgl2zkee
https://dl.doubtnut.com/l/_FPe9gOResrLZ


68. The line joining the points  and the line

joining the points intersect at

A. B

B. C

C. D

D. A

Answer: A

Watch Video Solution

6
→
a − 4

→
b + 4

→
c , − 4

→
c

−
→
a − 2

→
b − 3

→
c ,

→
a + 2

→
b − 5

→
c

69. Let  be three

given vectors. If  is a vector such that

 then find the value of .

A. 

→
a = − î − k̂,

→
b = − î + ĵ and

→
c = i + 2ĵ + 3k̂

→
r

→
r ×

→
b =

→
c ×

→
b and

→
r .

→
a = 0

→
r .

→
b

3 î − ĵ − k̂

https://dl.doubtnut.com/l/_FPe9gOResrLZ
https://dl.doubtnut.com/l/_QGClAEsAFhgd
https://dl.doubtnut.com/l/_KVNzZubBOBrZ


B. 

C. 

D. 

Answer: B

Watch Video Solution

3 î + ĵ − k̂

3 î − ĵ + k̂

3 î + ĵ + k̂

70. Find the shortest distance between the lines 

A. (4,0,1)

B. (4,0,-1)

C. (-4,0,1)

D. (-4,0,-1)

Answer: B

Watch Video Solution

→
r = î + ĵ + k̂ + λ(3 î − ĵ) and

→
r = 4 î − k̂ + μ(2 î + 3k̂)

https://dl.doubtnut.com/l/_KVNzZubBOBrZ
https://dl.doubtnut.com/l/_8muSxb9CY9M2


71. Show that the lines

 intersect

each other and find the coordinates of the points of intersection .

A. (11,4,5)

B. (-11,-4,-5)

C. (11,-4,5)

D. (-11,-4,5)

Answer: D

Watch Video Solution

= = and = =
x + 1

−10

y + 3

−1
z − 4

1

x + 10

−1

y + 1

−3

z − 1

4

72. The point of intersection
 of the lines


 is a. 


b. 
c. 
d. 

= = and = = =
x − 5

3

y − 7

−1

z + 2

1

x + 3

−36

y − 3

2

z − 6

4

(21, , )
5

3

10

3
(2, 10, 4) ( − 3, 3, 6) (5, 7, − 2)

https://dl.doubtnut.com/l/_8muSxb9CY9M2
https://dl.doubtnut.com/l/_L2Jgexh2Y2DU
https://dl.doubtnut.com/l/_De496aTEOOTz


A. (2,10,4)

B. (-3,3,6)

C. 

D. 

Answer: D

Watch Video Solution

(5, 7, − 2)

(21, , )
5

3

10

3

73. If the lines  and 

 are intersecting at point A, then 

A. 

B. 

C. 1398

D. 1390

Answer: C

= =
x − 4

15

y − 17

9

z − 11

8

= =
x − 15

4

y − 9

17

z − 8

11
OA2 =

√1398

√1390

https://dl.doubtnut.com/l/_De496aTEOOTz
https://dl.doubtnut.com/l/_GheFdAjy2flO


Watch Video Solution

74. If the lines 

intersect, then find the
value of 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

= = and = =
x − 1

2

y + 1

3

z − 1

4

x − 3

1

y − k

2
z

1

k.

−
7
2

7
2

−
9

2

9

2

75. If
 the straight lines 
 and 


 intersect at a point, then the integer k is

equal to
(1)
 
(2) 5
(3) 2
(4) 

= =
x − 1

k

y − 2

2

z − 3

3

= =
x − 2

3

y − 3

k

z − 1

2

−5 −2

https://dl.doubtnut.com/l/_GheFdAjy2flO
https://dl.doubtnut.com/l/_TSybSdyahj4r
https://dl.doubtnut.com/l/_kpAGUzmewBnH


A. 2

B. 

C. 5

D. 

Answer: D

Watch Video Solution

−2

−5

76. Find the vector equation of a line parallel to the vector 

and passing through a point A with position vector .

A. 

B. 

C. 

D. 

Answer: C

2 î − ĵ + 2k̂

3 î + ĵ − k̂

13 î − 4ĵ − 9k̂, 7 î − 6ĵ − 11k̂

13 î + 4ĵ − 9k̂, 7 î − 6ĵ + 11k̂

13 î − 4ĵ + 9k̂, − 7 î + 6ĵ − 11k̂

13 î + 4ĵ + 9k̂, 7 î + 6ĵ − 11k̂

https://dl.doubtnut.com/l/_kpAGUzmewBnH
https://dl.doubtnut.com/l/_UAFJcRDZjap5


Watch Video Solution

77. Find the coordinates of the points on the line

, which are at a distance of 3 units from the

point ( -1 , 2 , -3).

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

= =
x + 1

2

y − 2

3

z + 3

6

( , − , ), ( , − , )
1

7

23

7

3

7

13

7

5

7

39

7

( − , , − ), ( , − , )
1

7

23

7

3

7

13

7

5

7

39

7

( − , , − ), ( − , , − )
1

7

23

7

3

7

13

7

5

7

39

7

( , − , ), ( − , , − )
1

7

23

7

3

7

13

7

5

7

39

7

78. Find the two points on the line  on either

side of  which are at a distance of 3 units from it.

= =
x − 2

1

y + 3

−2

z + 5

2

(2, − 3, − 5)

https://dl.doubtnut.com/l/_UAFJcRDZjap5
https://dl.doubtnut.com/l/_JqSekPs0vLxW
https://dl.doubtnut.com/l/_cPrTLAAaNvB2


A.  and 

B.  and 

C.  and 

D.  and (

Answer: B

Watch Video Solution

( − 3, − 5, 3 (1, − 1, − 7)

(3, − 5, − 3) (1, − 1, − 7)

(3, − 5, − 3) ( − 1, 1, − 7)

( − 3, − 5, 3) −1, 1, − 7)

79. If AB=21, B  and the direction cosines of AB are 

 , then the co-ordinates of points in line PQ nearer to the origin

at a distance of 14 units from A are

A. 

B. 

C. 

D. 

≡ ( − 2, 1, − 8)

, ,
6

7

2

7

3

7

( − 16, − 7, − 1)

( − 20, − 5, 17)

(16, 7, 1)

(20, 5, 17)

https://dl.doubtnut.com/l/_cPrTLAAaNvB2
https://dl.doubtnut.com/l/_2cHnWVKpxhDP


Answer: C

View Text Solution

80. A line passes through two points  and .

The coordinates of a point on this lie at distance of 14 units from a are

A. (14,1,5), (-10,7,-7)

B. (14,1,5), (10,-7,-7)

C. (14,1,5), (-10,-7,7)

D. (14,1,5), (-10, -7,7)

Answer: D

Watch Video Solution

A(2, − 3, − 1) B(8, − 1, 2)

81. If the lines  and 

 are perpendicular, then

x = a1y + b1, z = c1y + d1

x = a2y + b2, z = c2y + d2

https://dl.doubtnut.com/l/_2cHnWVKpxhDP
https://dl.doubtnut.com/l/_XJxEQ8DeMydB
https://dl.doubtnut.com/l/_wlt5iQWoNQ4U


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

a1a2 + b1b2 + 1 = 0

a1a2 + c2c2 + 1 = 0

a1a2 + b1b2 = 0

a1c2 + b1c1 = 0

82. If the lines

 are at

right angle, then the value of  is

A. 

B. 

C. 

D. 

= = and = =
1 − x

3

7y − 14

2λ

z − 3

2
7 − 7x

3λ

y − 5

1

6 − z

5

λ

70
11

10

11

−
70
11

−
10

11

https://dl.doubtnut.com/l/_wlt5iQWoNQ4U
https://dl.doubtnut.com/l/_4ZHexnAyvNsi


Answer: A

Watch Video Solution

83. If the lines 

are at right angel, then
find the value of 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

= = and = =
x − 1

−3

y − 2

2k

z − 3

−2

x − 1

3k

y − 5

1

z − 6

−5

k.

−10

−
7
10

−
10

7

10

7

84. If the lines  and  are

perpendicular to each other, then 

x − 2 = ay − 3 =
2 − z

3
bx + 1 = y + 4 = z

+ =
1

a

1

b

https://dl.doubtnut.com/l/_4ZHexnAyvNsi
https://dl.doubtnut.com/l/_3qFyQP0odidL
https://dl.doubtnut.com/l/_b1tN4QRROgr9


A. 1

B. 0

C. 5

D. 3

Answer: D

Watch Video Solution

85. The lines 

are coplanar, if

A. 

B. 

C. 

D. 

Answer: D

= = and = =
x − 2

1

y − 3

1
z − 4

−k

x − 1

k

y − 4

2

z − 5

1

k = ± 3

k = ± 1

k = 0, − 1

k = 0, − 3

https://dl.doubtnut.com/l/_b1tN4QRROgr9
https://dl.doubtnut.com/l/_f047hqOVRfiF


Watch Video Solution

86. Find the angle between the pair of line: vecr=3hati+2hatu-

4hatk+lamds(hati+2hatj+2hatk), vecr=5hati-2hatk+mu(3hati+2hatj+6hatk)`

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos − 1( )
21

16

cos − 1( )
19

21

cos − 1( )
21

15

cos − 1( )
15

21

87. Find the angle between the following pair of line:

A. 

r = 2 î ≡ 5ĵ + k̂ + λ(3 î + 2ĵ + 6k̂) and
→
r = 7 î − 6k̂ + μ( î + 2ĵ + 2k̂)

cos − 1( )
19

21

https://dl.doubtnut.com/l/_f047hqOVRfiF
https://dl.doubtnut.com/l/_MoXQZT7g8AB6
https://dl.doubtnut.com/l/_NJVzPO919UkU


B. 

C. 

D. 

Answer: A

Watch Video Solution

cos1( )
21

19

cos − 1( )
15

21

cos − 1( )
21

15

88. Find the angle between the pair of lines 

 and 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

= =
x − 1

4

y − 3

1
z

8
= = .

x − 2

2

y + 1

2
z − 4

1

cos − 1( )
14
27

cos − 1( − )
14
27

cos − 1( )
2

3

cos − 1( − )
2

3

https://dl.doubtnut.com/l/_NJVzPO919UkU
https://dl.doubtnut.com/l/_xFXFN2uc6tEh


89. The acute angle between the lines  and 

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

= =
x + 4

−1

y − 2

2

z − 3

2

= =
x

2

y − 1

−2

z + 1
1

cos − 1( )
4

9

cos − 1( − )
4

9

cos − 1( )
2

9

cos − 1( )
8

9

90. The angle between the lines  and 

 is

A. 

B. 

= =
x + 1

2

y + 3

2
z − 4

−1

= =
x − 4

1

y + 4

2

z + 1

2

cos − 1( )
1

9

cos − 1( )
2

9

https://dl.doubtnut.com/l/_xFXFN2uc6tEh
https://dl.doubtnut.com/l/_HLHjM39jetSv
https://dl.doubtnut.com/l/_ZlLYgwViH5ZS


C. 

D. 

Answer: D

Watch Video Solution

cos − 1( )
3

9

cos − 1( )
4
9

91. The angle between the lines  and 

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= =
x − 1

1

y − 1

1

z − 1

2

= =
x − 1

−√3 − 1

y − 1

√3 − 1

z − 1

4

π

6

π

3

π

4

π

2

https://dl.doubtnut.com/l/_ZlLYgwViH5ZS
https://dl.doubtnut.com/l/_Dfod7G1LeNdi
https://dl.doubtnut.com/l/_xSxRo3wAs91R


92. The angle between the lines 

is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2x = 3y = − z and 6x = − y = − 4z

0∘

30∘

45∘

90∘

93. Find the angle between the following pair of lines: A lines with

direction ratios 2,2,1 A line joning (3,1,4)to (7,2,12)

A. 

B. 

C. 

cos − 1( )
1

3

cos − 1( )
2

3

cos − 1( )
3

3

https://dl.doubtnut.com/l/_xSxRo3wAs91R
https://dl.doubtnut.com/l/_t3peRiQ5dXFH


D. 

Answer: B

Watch Video Solution

cos − 1( )
4
3

94. The acute angle between the line joining the points A(2,1,-3), B(1,-1,2)

and the line  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

→
r = (2 î − k̂) + λ(3 î + ĵ)

cos − 1( )
1

2√3

cos − 1( )
1

√3

cos − 1( )
1

5√10

cos − 1( )
3

5√10

https://dl.doubtnut.com/l/_t3peRiQ5dXFH
https://dl.doubtnut.com/l/_yvrDiCtcKz0U


95. The angle between the lines

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

r = (2 î + ĵ − 3k̂) + λ( î − ĵ + k̂), = =
x − 1

1

y + 2

3

z + 3

2

π

6

π

4

π

3

π

2

96. The angle between the lines whose direction cosines are proportional

to (1,2,1) and (2,-3,6) is

A. 

B. 

cos − 1( )
1

7√6

cos − 1( )
2

7√6

https://dl.doubtnut.com/l/_NBVIlzo1xqfm
https://dl.doubtnut.com/l/_6CxwFu2IuTz3


C. 

D. 

Answer: B

Watch Video Solution

cos − 1( )
3

7√6

cos − 1( )
4

7√6

97. The angle made by line AB with perpendicular of co-ordinates axes if

 and  are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A ≡ (0, √3, 0) B ≡ (0, 0, − 1)

, ,
π

3

π

4

π

2

, ,
3π

4

π

2

π

3

, ,
π

2

5π

6

2π

3

, ,
π

2

2π

3

5π

6

https://dl.doubtnut.com/l/_6CxwFu2IuTz3
https://dl.doubtnut.com/l/_WABUCxyYBoC4
https://dl.doubtnut.com/l/_nhe5K3eZvbul


98.  are three points and D is the

foot of perpendicular from A to BC. Find the coordinates of D.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A91, 0, 4), B(0, − 11, 3), C(2, − 3, 1)

( , , )
99

53
187
53

95

53

( , , )
95

53
187
53

99

53

( , − , )
99

53
187
53

95

53

( , − , )
95

53
187
53

99

53

99. Find the length of the perpendicular from ( 3,2,1) to the line

.

A. (9,5,)

B. (9,-5,3)

C. (9,5,-3)

= =
x − 7

−2

y − 7

2

z − 6

3

https://dl.doubtnut.com/l/_nhe5K3eZvbul
https://dl.doubtnut.com/l/_hHotl0NWAneq


D. (-9,5,3)

Answer: A

Watch Video Solution

100. Find the length of the perpendicular from ( 3,2,1) to the line

.

A. 3

B. 2

C. 7

D. 6

Answer: C

Watch Video Solution

= =
x − 7

−2

y − 7

2

z − 6

3

https://dl.doubtnut.com/l/_hHotl0NWAneq
https://dl.doubtnut.com/l/_xdv1HLIBzYpi


101. The foot of the perpendicular drawn from point (2,-3,1) to the line

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= =
x + 1

2

y − 3

3

z + 2

−1

( − , − , − )
22

14

3

14

13

14

( − , − , − )
22

7

3

14

13

4

( , , )
22

14

3

14

13

14

( , , )
22

7

3

14

13

14

102. Find the length of the perpendicular from ( 3,2,1) to the line

.

A. 

B. 

C. 

= =
x − 7

−2

y − 7

2

z − 6

3

√
531

14

√
531

98

√
1779
98

https://dl.doubtnut.com/l/_IO2h2VCoWn9e
https://dl.doubtnut.com/l/_EmvNSxlG9Pvp


D. 

Answer: A

Watch Video Solution

√
1779
49

103. 2/ Find the perpendicular distance of the point (1, 0, 0) from the line

Also, and the coordinates of the foot of the

perpendicular and the equation of the perpendicular.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= =
x − 1

2

y + 1

−3

z + 10

8

( − 3, − 4, − 2)

(3, − 4, − 2)

(3, 4, − 2)

(3, 4, 2)

https://dl.doubtnut.com/l/_EmvNSxlG9Pvp
https://dl.doubtnut.com/l/_68LFNz0pOTpb
https://dl.doubtnut.com/l/_onswWKE3OHUE


104. Find the perpendicular distasnce of the point (1,0,0) from the lines (x-

1)/2=(y+1)/(-3)=(z+10)/8`

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4√3

3√6

6√2

2√6

105. Find the foot of the perpendicular from the point 
on the line


Also, find the length of the perpendicular.

A. (2,3,-1)

B. (2,-3,1)

C. (-2,3,1)

(0, 2, 3)

= = .
x + 3

5

y − 1

2
z + 4

3

https://dl.doubtnut.com/l/_onswWKE3OHUE
https://dl.doubtnut.com/l/_YBye7WeU1lpW


D. (2,3,1)

Answer: A

Watch Video Solution

106. Find the image of the point  in the line 

.

A. 21

B. 42

C. 

D. 

Answer: C

Watch Video Solution

(0, 2, 3)

= =
x + 3

5

y − 1

2
z + 4

3

√21

√42

https://dl.doubtnut.com/l/_YBye7WeU1lpW
https://dl.doubtnut.com/l/_BHI0Gk3SQXJq


107. The position vector of the foot of the perpendicular draw from the

point  to the line 


 is

A. (3,2,1)

B. (1,2,3)

C. (2,1,3)

D. (1,3,2)

Answer: B

Watch Video Solution

2 î − ĵ + 5k̂

→
r = (11 î − 2ĵ − 8k̂) + λ(10 î − 4ĵ − 11k̂)

108. The position vector of the foot of the perpendicular draw from the

point  to the line 


 is

A. 1

2 î − ĵ + 5k̂

→
r = (11 î − 2ĵ − 8k̂) + λ(10 î − 4ĵ − 11k̂)

https://dl.doubtnut.com/l/_aqS5qYVDmRc7
https://dl.doubtnut.com/l/_R3YeAFjXbnk1


B. 2

C. 3

D. 

Answer: D

Watch Video Solution

√14

109. Find the length of the perpendicular drawn from the point (5, 4, -1) to

the line , where  is a parameter.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

→
r = î + λ(2 î + 9ĵ + 5k̂) λ

√231900

110

√23199

110

√231990

11

√23199

11

https://dl.doubtnut.com/l/_R3YeAFjXbnk1
https://dl.doubtnut.com/l/_Cgef1vAfWQCU


110. Find the shortest distance between the following lines : 

(i)  and 


 


(ii)  and 

 

(iii)  and 





(iv)  and  


(v)  and 


A. 

B. 

C. 

D. 

Answer: D

W h Vid S l i

→
r = 4 î − ĵ + λ( î + 2ĵ − 3k̂)

→
r = î − ĵ + 2k̂ + μ(2 î + 4ĵ − 5k̂)

→
r = − î + ĵ − k̂ + λ( î + ĵ − k̂)

→
r = î − ĵ + 2k̂ + μ( − î + 2ĵ + k̂)

= =
x − 1

−1

y + 2

1

z − 3

−2

= =
x − 1

1

y + 1

2

z + 1

−2

= =
x − 1

2

y − 2

3

z − 3

4
= =

x − 2

3

y − 3

4

z − 5

5
→
r =

→
i + 2ĵ + 3k̂ + λ( î − ĵ + k̂)

→
r = 2 î − ĵ − k̂ + μ( − î + ĵ − k̂)

2

√3

√3
2

1

2√3

1

√3

https://dl.doubtnut.com/l/_Cgef1vAfWQCU
https://dl.doubtnut.com/l/_tIiLh99gNiZ0


Watch Video Solution

111. Find the shortest distance between the lines

.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

→
r = ( îi + 2ĵ + k̂) + λ(2 î + ĵ = 2k̂) and

→
r = 2 î − ĵ − k̂ + μ(2 î + ĵ

3

√2

2

√3

1

3√2

1

2√3

112. The shortest distance between the lines

 
→
r = (2 î − ĵ) + λ(2 î + ĵ − 3k̂)

→
r = ( î − ĵ + 2k̂) + λ(2 î + ĵ − 5k̂)

https://dl.doubtnut.com/l/_tIiLh99gNiZ0
https://dl.doubtnut.com/l/_D4WBF7Jm9X9K
https://dl.doubtnut.com/l/_Cw9kze6jkIHc


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

2√5

1

4√5

1

√5

2

√5

113. The shortest distance between the lines

 and  is

A. 

B. 

C. 

D. 

Answer: B

→
r = ( − î − ĵ) + λ(2 î − k̂)

→
r = (2 î − ĵ) + μ( î + ĵ − k̂)

1

√7
1

√14
1

2√7
1

7√2

https://dl.doubtnut.com/l/_Cw9kze6jkIHc
https://dl.doubtnut.com/l/_liAsoUNfycJj


Watch Video Solution

114. Find the shortest distance between the lines 

.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

= and = =
x + 1

7

y + 1

−6

x − 3

1

y − 5

−2
z − 7

1

2√29

√29

3√29

4√29

115. Find the shortest distance
 between the lines


.

A. 

= = and = =
x − 1

2

y − 2

3

z − 3

4

x − 2

3

y − 4

4

z − 5

5

2

√6

https://dl.doubtnut.com/l/_liAsoUNfycJj
https://dl.doubtnut.com/l/_8tgNC52d1YWD
https://dl.doubtnut.com/l/_3vXo0VOkMzUb


B. 

C. 

D. 

Answer: B

Watch Video Solution

1

√6

2√6

√6

116. The shortest distance between the lines 

and  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

= =
x − 5

4

y − 7

−5

z + 3

−5

= =
x − 8

7

y − 7

1

z − 5

3

342

√3830

171

√3830

282

√3830

141

√3830

https://dl.doubtnut.com/l/_3vXo0VOkMzUb
https://dl.doubtnut.com/l/_MivyxBCFHfxH


117. If OA=a, OB=b, OC=c are the co-terminus edges of regular

parallelopiped, then the shortest distance between the diagonal and the

side OA not meeting the diagonal is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

bc

√b2 + c2

ca

√c2 + a2

ab

√a2 + b2

abc

√a2 + b2 + c2

118. If OA=a, OB=b, OC=c are the co-terminus edges of regular

parallelopiped, then the shortest distance between the diagonal and the

side OB not meeting the diagonal is

https://dl.doubtnut.com/l/_MivyxBCFHfxH
https://dl.doubtnut.com/l/_tj3xD1kGyIHW
https://dl.doubtnut.com/l/_3jISqHnKnhKI


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

bc

√b2 + c2

ca

√c2 + a2

ab

√a2 + b2

abc

√a2 + b2 + c2

119. Prove that the shortest distance between the diagonals of a

rectangular parallelopiped whose coterminous sides are a, b, c and the

edges not meeting it are

A. 

B. 

C. 

D. 

bc

√b2 + c2

ca

√c2 + a2

ab

√a2 + b2

abc

√a2 + b2 + c2

https://dl.doubtnut.com/l/_3jISqHnKnhKI
https://dl.doubtnut.com/l/_DnHryOECgtu7


Answer: C

Watch Video Solution

120. The line  and 

 are

A. coplanar

B. non-collinear

C. parallel

D. perpendicular

Answer: B

Watch Video Solution

→
r = (8

−→
− 9

→
b + 10

→
c ) + λ(3

→
a − 16

→
b + 7

→
c )

→
r = (15

→
a + 29

→
b + 5

→
c ) + μ(3

→
a + 8

→
b − 5

→
c )

121. The lines given by  and 

 are

→
r = ( î − ĵ) + λ(2 î + k̂)

→
r = (2 î − ĵ) + μ( î + ĵ − k̂)

https://dl.doubtnut.com/l/_DnHryOECgtu7
https://dl.doubtnut.com/l/_nSEP0wk3v92w
https://dl.doubtnut.com/l/_kKC2zkaJ8PgA


A. parallel

B. perpendicular

C. skew

D. intersecting

Answer: C

View Text Solution

122. The lines  and  are

A. perpendicular

B. coincident

C. intersecting

D. skew

Answer: B

Watch Video Solution

= =
x

1

y

2
z

3
= =

x − 1

−2

y − 2

−4

z − 3

−6

https://dl.doubtnut.com/l/_kKC2zkaJ8PgA
https://dl.doubtnut.com/l/_8iyKTv9mllqj


123. If a,b,c and  are the direction ratio of two lines, then the

lines are

A. mutually perpendicular

B. skew

C. coincident

D. intersecting

Answer: C

Watch Video Solution

, ,
1

bc

1

ca

1

ab

124. The lines  and 

are

A. perpendicular

B. parallel

= =
x − 1

2

y − 2

4

z − 3

6
= =

x − 1

4

y − 2

5

z − 3

7

https://dl.doubtnut.com/l/_8iyKTv9mllqj
https://dl.doubtnut.com/l/_eQhnYShZwylM
https://dl.doubtnut.com/l/_twnGRot7k81A


C. intersecting

D. skew

Answer: C

View Text Solution

125. Distance of the point  from the line 

, where  are the direction cosines of

the line, is

A. 

B. 

C. 

D. 

Answer: D

P (x2, y2, z2)

= =
x − x1

l

y − y1

m

z − z1

n
l, m, n

√(x2 − x1)l + (y2 − y1)m + (z2 − z1)n

√(x2 − x1)2
l + (y2 − y1)2

m + (z2 − z1)2
n

√(x2 − x1)2 + (y2 − y1)2 + (z2 − z1)2

√(x1 − x2)2 + (y1 − y2)2 + (z1 − z2)2 − l(x1 − x2) + m(y1 − y2) +

https://dl.doubtnut.com/l/_twnGRot7k81A
https://dl.doubtnut.com/l/_N1xeYor0mrrI


Watch Video Solution

126. The equation of line equally inclined to coordinate axes and passing

through (-3,2,-5) is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= =
x + 3

1

y − 2

1

z + 5

1

= =
x + 3

−1

y − 2

1

5 + z

−1

= =
x + 3

−1

y − 2

1

z + 5

1

= =
x + 3

−1

2 − y

1

z + 5

−1

127. The lines 

intersect each other at point

A. 

= = and = =
x − 1

2

y + 1

2

z − 1

4

x − 3

1

y − k

2
z

1

( − 2, − 4, 5)

https://dl.doubtnut.com/l/_N1xeYor0mrrI
https://dl.doubtnut.com/l/_92eshxXm8hLI
https://dl.doubtnut.com/l/_BSpZyE8Teg3d


MCQs

B. 

C. 

D. 

Answer: B

Watch Video Solution

( − 2, − 4, − 5)

(2, 4, − 5)

(2, − 4, − 5)

1. L.P.P. is a process of finding

A. maximum value of objective function

B. minimum value of objective function

C. optimal value of objective function

D. only maximum value of objective function

Answer: C

https://dl.doubtnut.com/l/_BSpZyE8Teg3d
https://dl.doubtnut.com/l/_sSbn4EpnNGMQ


View Text Solution

2. Optimization of the objective function is a process of

A. maximizing the objective function

B. maximizing or minimizing the objective function

C. minimizing the objective function

D. only minimizing the objective function

Answer: B

View Text Solution

3. Objective function of an LPP is

A. a constraint

B. a function to be optimised

C. a relation between the variable

https://dl.doubtnut.com/l/_sSbn4EpnNGMQ
https://dl.doubtnut.com/l/_IVCMpqtq1YIF
https://dl.doubtnut.com/l/_Vb9nwwHTVsyW


D. feasible region

Answer: B

Watch Video Solution

4. The function to be optimized is called

A. an objective function

B. the constraint

C. the non-negative constraint

D. an inequality

Answer: A

View Text Solution

5. Which of the following statement is correct ?

https://dl.doubtnut.com/l/_Vb9nwwHTVsyW
https://dl.doubtnut.com/l/_5AKhuK1eyXcE
https://dl.doubtnut.com/l/_D8iHhbVQuiVj


A. A L.P.P admits a unique solution

B. Every L.P.P. does not admits an optimal solution

C. If a L.P.P. admits two optimal solution, then it has infinite number of

optimal solution

D. A L.P.P. admits two optimal solution.

Answer: C

Watch Video Solution

6. The optimal value of the objective function is attained at the points

A. given by intersection of inequations with axes only

B. given by by intersection of inequations with X-axis only

C. given by corner points of the feasible region

D. given by corner points

Answer: C

https://dl.doubtnut.com/l/_D8iHhbVQuiVj
https://dl.doubtnut.com/l/_VXYMYwj7FTsI


Watch Video Solution

7. The maximum or minimum of the objective funtion occurs only at the

corner points of the feasible region. This theorem is known as

fundamental theorem of

A. Algebra

B. Arithmetic

C. Calculus

D. Extreme point

Answer: D

View Text Solution

8. Corner points of fealible region of inequalities gives

A. an optiomal solution of L.P.P.

https://dl.doubtnut.com/l/_VXYMYwj7FTsI
https://dl.doubtnut.com/l/_9ZpWmex7JGIt
https://dl.doubtnut.com/l/_aHXqhq1KcB9W


B. an objective function

C. the constraints.

D. the linear assumption.

Answer: A

View Text Solution

9. The feasible solution of a LPP belongs to

A. first and second

B. first and third

C. only second

D. only first

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_aHXqhq1KcB9W
https://dl.doubtnut.com/l/_2q7GjRVo8BVn
https://dl.doubtnut.com/l/_gIqDQzXFMfgs


10. L.P.P. has constraints of

A. one variables

B. two variables

C. one or two variables

D. two or more variables

Answer: D

View Text Solution

11. If the constraints in a linear programming problem are changed

A. the problem is to be re-evaluated

B. solution is not defined

C. the objective function has to be modify

D. the changes in constraints ignored

https://dl.doubtnut.com/l/_gIqDQzXFMfgs
https://dl.doubtnut.com/l/_szqYFmMWyHqt


Answer: A

Watch Video Solution

12. Which of the following statement is incorrect

A. Maximize the objective function when more than one optimal

solution is obtained

B. Maximize the objective function when the feasible region is

unbounded

C. Maximize the objective function when the feasible region is

bounded

D. If a L.P.P. admits two optimal solution, then it has infinite number of

optimal solution

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_szqYFmMWyHqt
https://dl.doubtnut.com/l/_aBtibTL3Q2Vz


13. Minimize  subject to 


 


 js a L.P.P. with number of constraints

A. 

B. 

C. mn

D. 

Answer: A

Watch Video Solution

z =
n

∑
j= 1

m

∑
i= 1

cijxij,

∑ + (i = 1)nxij = ai, i = 1, 2, ...m and

m

∑
i= 1

xij = ai, i = 1, 2, ...n

m + n

m − n

m

n

14. Region represented by the inequalities  is

A. first quadrant

B. second quadrant

x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_aBtibTL3Q2Vz
https://dl.doubtnut.com/l/_BSisl4oQLgOU
https://dl.doubtnut.com/l/_8RNYq4HCMRis


C. third quadrant

D. fourth quadrant

Answer: A

Watch Video Solution

15. Solution set of the inequality  is

A. half plane on the left of Y-axis

B. half plane on the right of Y-axis excluding Y-axis

C. half plane on the right of Y-axis including the points on Y-axis

D. half plane on the left of Y-axis including the points on Y-axis

Answer: C

Watch Video Solution

x ≥ 0

https://dl.doubtnut.com/l/_8RNYq4HCMRis
https://dl.doubtnut.com/l/_vkWv6z9w5xMX


16. Solution set of the inequality  is

A. half plane below X-axis excluding the points on X-axis

B. half plane below X-axis including the points on X-axis

C. half plane above X-axis

D. half plane above X-axis including the points on X-axis

Answer: B

Watch Video Solution

y ≤ 0

17. Which of the term is not used in a linear programming problem ?

A. Slack variable

B. Objective funciton

C. Concave region

D. Feasible region

https://dl.doubtnut.com/l/_aStvB2eZNqHp
https://dl.doubtnut.com/l/_dQoa9I7XxROB


Answer: C

Watch Video Solution

18. A set is said to be convex if

A. all points except the end points of the segment inside the set lie

inside the set

B. it is concave

C. all points on segment in the set lie inside the set

D. all points on segment in the set lie outside the set

Answer: C

Watch Video Solution

19. Which of the following set is convex?

https://dl.doubtnut.com/l/_dQoa9I7XxROB
https://dl.doubtnut.com/l/_tmcZ4LA8Cjpb
https://dl.doubtnut.com/l/_8CdP7B2ad5Zl


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

{(x, y) : x2 + y2 ≥ 1}

{(x, y) : y2 ≥ x}

{(x, y) : 3x2 + 4y2 ≥ 5}

{(x, y) : y ≥ 2, y ≤ 4}

20. Which of the following set is not a convex set?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

{(x, y) : 1 ≤ x2 + y2 ≤ 3}

{(x, y) : x2 + y2 ≤ 2}

{(x, y) : x + y ≤ 1}

{(x, y) : 2x2 + 3y2 ≤ 6}

https://dl.doubtnut.com/l/_8CdP7B2ad5Zl
https://dl.doubtnut.com/l/_dhbAFnsGVUAj


21. which of the following is not a convex set?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

{(x, y) : 2x + 2y ≤ 7}

{(x, y) : x2 + y2 ≤ 4}

{x : |x| = 5}

{(x, y) : 2x2 + 3y2 ≤ 6}

22. The maximum value of  subject to 

 is

A. 0

B. 48

C. 60

z = 11x + 8y

x ≤ 4, x + y ≤ 6, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_dhbAFnsGVUAj
https://dl.doubtnut.com/l/_q1SZbmIwN5Gw
https://dl.doubtnut.com/l/_fXqvakQBYI6w


D. 44

Answer: C

Watch Video Solution

23. Maximize : 

 


Subject to :  


 


 


A. 21

B. 37

C. 33

D. 30

Answer: B

z = 3x + 5y

x + 4y ≤ 24

3x + y ≤ 21

x + y ≤ 9

x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_fXqvakQBYI6w
https://dl.doubtnut.com/l/_3sj5FPRTnSLb


Watch Video Solution

24. The maximum value of  subject to 

 is

A. 36

B. 16

C. 24

D. 38

Answer: A

Watch Video Solution

z = 4x + 6y

3x + 2y ≤ 12, x + y ≥ 4, x ≥ 0, y ≥ 0

25. The maximum value of  subject to 

 is

A. 42

z = 7x + 11y

3x + 5y ≤ 26, 5x + 3y ≤ 30, x ≥ 0, y ≥ 0,

https://dl.doubtnut.com/l/_3sj5FPRTnSLb
https://dl.doubtnut.com/l/_gZyoJOfu9XWx
https://dl.doubtnut.com/l/_9H9HwjGCefKR


B. 57.2

C. 61.6

D. 59

Answer: D

Watch Video Solution

26. The maximum value of  subject to 

 is

A. 13

B. 16

C. 13.33

D. 16.33

Answer: B

Watch Video Solution

z = 6x + 4y

x ≤ 2, x + y ≤ 3, − 2x + y ≤ 1, x ≥ 0, y ≥ 0,

https://dl.doubtnut.com/l/_9H9HwjGCefKR
https://dl.doubtnut.com/l/_sGIvWRJ3tzL8


27. The minimum value of z = 10x + 25y subject to

 is …….

A. 75

B. 80

C. 95

D. 105

Answer: C

Watch Video Solution

0 ≤ x ≤ 3, 0 ≤ y ≤ 3, x + y ≤ 5

28. The maximum value of  subject to 

 is

A. 400

B. 562.5

z = 75x + 50y

8x + 5y ≤ 60, 4x + 5y ≤ 40, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_sGIvWRJ3tzL8
https://dl.doubtnut.com/l/_gOsckxsXaGiE
https://dl.doubtnut.com/l/_OAffenhYcdZT


C. 575.5

D. 575

Answer: D

Watch Video Solution

29. Maximise  


Subject to .

A. 10

B. 0

C. 6

D. 12

Answer: A

Watch Video Solution

Z = 5x + 3y

3x + 5y ≤ 15, 5x + 2y ≤ 10, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_OAffenhYcdZT
https://dl.doubtnut.com/l/_4NtS0smv5EJd
https://dl.doubtnut.com/l/_mbmTZl7rmRDf


30. Maximise  


Subject to .

A. at one point only

B. at two points only

C. at infinite number of points

D. at three points only

Answer: C

Watch Video Solution

Z = 5x + 3y

3x + 5y ≤ 15, 5x + 2y ≤ 10, x ≥ 0, y ≥ 0

31. The maximum value of  subject to 

 is

A. 60

B. 150

C. 160

z = 15x + 30y

3x + y ≤ 12, x + 2y ≤ 10, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_mbmTZl7rmRDf
https://dl.doubtnut.com/l/_GgL2W2L3bExX


D. 100

Answer: B

Watch Video Solution

32. The objective function  subject to 

 can be maximized

A. at infinite number of points

B. at two points only

C. at one points only

D. at three points only

Answer: A

Watch Video Solution

z = 15x + 30y

3x + y ≤ 12, x + 2y ≤ 10, x ≥ 0, y ≥ 0,

https://dl.doubtnut.com/l/_GgL2W2L3bExX
https://dl.doubtnut.com/l/_YVWV40trl1th


33. The maximum value of  subject to 

 is

A. 5

B. 7.5

C. 12

D. 10

Answer: D

Watch Video Solution

z = x + y

x + y ≤ 10, 3x − 2y ≤ 15, x ≤ 6, x ≥ 0, y ≥ 0

34. The objective function  subject to 

 can be maximized

A. at one point only

B. at two points only

C. at infinite number of points

z = x + y

x + y ≤ 10, 3x − 2y ≤ 15, x ≤ 6, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_VBMjHYGcuZX0
https://dl.doubtnut.com/l/_4kkvRX2yUb9E


D. at three points only

Answer: C

Watch Video Solution

35. The objective function , subject to 

 has maximum

value of the feasible region.

A. 5

B. 7.5

C. 12

D. 10

Answer: D

Watch Video Solution

z = x1 + x2

x1 + x2 ≤ 10, − 2x1 + 3x2 ≤ 15, x1 ≤ 6, x1, x2 ≤ 0

https://dl.doubtnut.com/l/_4kkvRX2yUb9E
https://dl.doubtnut.com/l/_yWy1uxT45w8E
https://dl.doubtnut.com/l/_06rQTF4mBhAm


36. The objective function , subject to 

 has maximum

value of the feasible region.

A. at one point only

B. at two points only

C. at every point of the segment joining two points

D. at every point of the line joining two points

Answer: C

Watch Video Solution

z = x1 + x2

x1 + x2 ≤ 10, − 2x1 + 3x2 ≤ 15, x1 ≤ 6, x1, x2 ≤ 0

37. The objective function  subject to 

 can be

maximized

A. at only one point

B. at two points only

z = 4x + 3y

3x + 4y ≤ 24, 8x + 6y ≤ 48, x ≤ 5, y ≤ 6, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_06rQTF4mBhAm
https://dl.doubtnut.com/l/_WUZAw948H3hF


C. at infinite number of points

D. at three points only

Answer: C

Watch Video Solution

38. The maximum value of Z is where, Z=4x+2 subject to constraints 4x+2y

46, x+3y  and , is

A. exactly one point

B. two point

C. three point

D. infinite number of points

Answer: D

Watch Video Solution

≥ ≤ 24 x, y ≥ 0

https://dl.doubtnut.com/l/_WUZAw948H3hF
https://dl.doubtnut.com/l/_WjPGfriFk3VB
https://dl.doubtnut.com/l/_F5DwUIESL6ch


39. By graphical method, the solutions of linear programming problem

maximise  subject to constraints 

 are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Z = 3x1 + 5x2

3x1 + 2x2 ≤ 18, x1 ≤ 4, x2 ≤ 6x1 ≥ 0, x2 ≥ 0

x1 = 2, x2 = 0, z = 6

x1 = 2, x2 = 6, z = 36

x1 = 4, x2 = 3, z = 27

x1 = 4, x2 = 6, z = 42

40. The point for which the maximum value of z=x+y subject to the

constraints  is obtained at

A. (10,20)

B. (25,0)

2x + 5y ≤ 100, + ≤ 1, x ≥ 0, y ≥ 0
x

25

y

50

https://dl.doubtnut.com/l/_F5DwUIESL6ch
https://dl.doubtnut.com/l/_GwbQBsujJbkX


C. (0,20)

D. 

Answer: D

Watch Video Solution

( , )
75
4

25

2

41. The minimum value of  subject to 

 is

A. 115

B. 125

C. 105

D. 200

Answer: A

Watch Video Solution

z = 20x + 20y

x + 2y ≥ 8, 3x + 2y ≥ 15, 5x + 2y ≥ 20, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_GwbQBsujJbkX
https://dl.doubtnut.com/l/_AtvKkLdlrTKn
https://dl.doubtnut.com/l/_tVmHiuBau3UY


42. The minimum value of  subject to 

 is

A. 20.5

B. 28.8

C. 24

D. 22.5

Answer: D

Watch Video Solution

z = 6x + 21y

x + 2y ≥ 3, x + 4y ≥ 4, 3x + y ≥ 3, x ≥ 0, y ≥ 0

43. The minimum value of  subject to 

 is

A. 330

B. 336

C. 360

z = 20x + 9y

2x + y ≥ 36, 6x + y ≥ 60, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_tVmHiuBau3UY
https://dl.doubtnut.com/l/_c59K8m1qg6PE


D. 333

Answer: B

Watch Video Solution

44. The minimum value of  subject to 

 is

A. 5

B. 2.5

C. 6

D. 3.5

Answer: A

Watch Video Solution

z = 7x + y

5x + y ≥ 5, x + y ≥ 3, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_c59K8m1qg6PE
https://dl.doubtnut.com/l/_3Vo2kqGQ6INQ


45. The minimum value of  subject to 

 is

A. 56

B. 52

C. 51

D. 48

Answer: B

Watch Video Solution

z = 8x + 10y

2x + y ≥ 7, 2x + 3y ≥ 15, y ≥ 2, x ≥ 0, y ≥ 0

46. The minimum value of  subject to 

 is

A. 24

B. 6

C. 8

z = 6x + 2y

5x + 9y ≤ 90, x + y ≥ 4, y ≤ 8, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_cxuIuyN60dW9
https://dl.doubtnut.com/l/_D1KeeXaBWofm


D. 16

Answer: C

Watch Video Solution

47. The objective function,  subject to 

 has minimum value

at the point

A. on X-axis

B. on Y-axis

C. at the origin

D. on the line parallel to X-axis

Answer: A

Watch Video Solution

z = 4x1 + 5x2,

2x1 + x2 ≥ 7, 2x1 + 3x2 ≤ 15, x2 ≤ 3, x1, x2 ≥ 0

https://dl.doubtnut.com/l/_D1KeeXaBWofm
https://dl.doubtnut.com/l/_kbSULfYAEGp1
https://dl.doubtnut.com/l/_ZfV0ItYYVTsO


48. The minimum value of  subject to 

 is

A. 19.8

B. 19.5

C. 19.4

D. 19.6

Answer: A

Watch Video Solution

z = 3x + 5y

2x + 3y ≥ 12, − x + y ≤ 3, x ≤ 4, y ≥ 3

49. The minimum value of  subject to 

 is

A. 9.8

B. 11.2

C. 9.6

z = 8x + 4y

x + 2y ≥ 2, 3x + y ≥ 3, 4x + 3y ≥ 6, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_ZfV0ItYYVTsO
https://dl.doubtnut.com/l/_oqUs5AagM3pR


D. 12

Answer: C

Watch Video Solution

50. The minimum value of  subject to 

 is

A. 4

B. 6

C. 3

D. 12

Answer: A

Watch Video Solution

z = 2x + 4y

x + 2y ≥ 2, 3x + 2y ≥ 6, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_oqUs5AagM3pR
https://dl.doubtnut.com/l/_8xsixxjY7g5Z


51. The objective function  subject to 

 can be minimized

A. at infinite number of points

B. at two points only

C. at one points only

D. at three points only

Answer: A

Watch Video Solution

z = 2x + 4y

2x + y ≥ 3, x + 2y ≥ 6, x ≥ 0y ≥ 0

52. The minimum value of  subject to 

 is

A. 10

B. 30

C. 40

z = x + 2y

x + 2y ≥ 50, 2x − y ≤ 0, 2x + y ≤ 100, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_GcK7ryRq4bOV
https://dl.doubtnut.com/l/_gzwIU9cjTkcg


D. 50

Answer: D

Watch Video Solution

53. The objective function  subject to 

 can be minimized

A. at infinite number of points

B. at two points only

C. at one points only

D. at three points only

Answer: A

Watch Video Solution

z = x + 2y

x + 2y ≥ 50, 2x − y ≤ 0, 2x + y ≤ 100, x, y ≥ 0

https://dl.doubtnut.com/l/_gzwIU9cjTkcg
https://dl.doubtnut.com/l/_Uhu5FQ7VWaM8


54. Minimize , subject to 

.

A. 22

B. 24

C. 40

D. 28

Answer: B

Watch Video Solution

z = 6x + 4y

3x + 2y ≥ 12, x + y ≥ 5, 0 ≤ x ≤ 4, 0 ≤ y ≤ 4

55. The objective function  subjective to 

 can be minimized

A. at one point only

B. at two points only

C. at infinite number of points

z = 6x + 4y

3x + 2y ≥ 12, x + y ≥ 5, 0 ≤ x ≤ 4, 0 ≤ y ≤ 4

https://dl.doubtnut.com/l/_c8an8ku2zITP
https://dl.doubtnut.com/l/_zBtygGhYnADm


D. at three points only

Answer: C

Watch Video Solution

56. The co-ordinates of the point for minimum value z = 7x - 8y subject to

the conditons  is

A. (20,0)

B. (15,5)

C. (0,5)

D. (0,20)

Answer: D

Watch Video Solution

x + y − 20 ≤ 0, y ≥ 5, x ≥ 0,

https://dl.doubtnut.com/l/_zBtygGhYnADm
https://dl.doubtnut.com/l/_B5hGtQ1CU8dZ


57. The constraints  and the

objective function  has

A. unbounded solution

B. concave solution

C. bounded solution

D. unique solution

Answer: A

Watch Video Solution

x + y ≥ 5, x + 2y ≥ 6, x ≥ 3, y ≥ 0

z = − x + 2y

58. The constraints , and the

objective function  has

A. unbounded solution

B. concave solution

C. bounded solution

x − y ≤ 1, x − y ≥ 0, x ≥ 0, y ≥ 0

z = x + y

https://dl.doubtnut.com/l/_7QG1XbV5Rgdn
https://dl.doubtnut.com/l/_E2BJGJRuLwPB


D. unique solution

Answer: A

Watch Video Solution

59. The constraints  and the

objective function  has

A. unbounded solution

B. concave solution

C. bounded solution

D. unique solution

Answer: A

Watch Video Solution

3x + 2y ≥ 9, x − y ≤ 3, x ≥ 0, y ≥ 0

z = 4x + 2y

https://dl.doubtnut.com/l/_E2BJGJRuLwPB
https://dl.doubtnut.com/l/_UkshMaqXGCYs


60. The constraints  and the

objective function  has

A. unbounded solution

B. concave solution

C. bounded solution

D. unique solution

Answer: A

Watch Video Solution

x − y ≥ 0, − x + 3y ≤ 3, x ≥ 0, y ≥ 0

z = 6x + 8y

61. The constraints  defines

A. bounded feasible region

B. unbounded feasible region

C. both bounded and unbounded region

D. unique solution

−x + y ≤ 1, − x + 3y ≤ 9, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_wyMk2yKMKK8x
https://dl.doubtnut.com/l/_zIOqAArjkNrP


Answer: B

Watch Video Solution

62. The area of the feasible region for the following constraints

 will be

A. bounded

B. unbounded

C. convex

D. concave

Answer: B

Watch Video Solution

3y + x ≥ 3, x ≥ 0, y ≥ 0

63. The constraints  and the

objective function  has

x + y ≥ 8, 3x + 5y ≤ 15, x ≥ 0, y ≥ 0

z = 1.5x + y

https://dl.doubtnut.com/l/_zIOqAArjkNrP
https://dl.doubtnut.com/l/_EB9WjKdXwErS
https://dl.doubtnut.com/l/_VchQCbfOgbqV


A. concave solution

B. no unique solution

C. bounded solution

D. unique solution

Answer: B

Watch Video Solution

64. The constraints  and the

objective function  has

A. concave solution

B. no unique solution

C. bounded solution

D. unique solution

Answer: B

x + y ≤ 8, 2x + 3y ≤ 12, x ≥ 0, y ≥ 0

z = 4x + 6y

https://dl.doubtnut.com/l/_VchQCbfOgbqV
https://dl.doubtnut.com/l/_2vkcOyYV3b04


Watch Video Solution

65. The constraints  and the

objective function  has

A. concave solution

B. no unique solution

C. bounded solution

D. unique solution

Answer: B

Watch Video Solution

x + 2y ≤ 2, 2x + 4y ≥ 8, x ≥ 0, y ≥ 0

z = 7x − 3y

66. The constraints  and

the objective function  has

A. concave solution

x − y ≥ 0, − 2x + y ≥ 2, x ≥ 2, x ≥ 0, y ≥ 0

z = 4x + 5y

https://dl.doubtnut.com/l/_2vkcOyYV3b04
https://dl.doubtnut.com/l/_6tFk1ilurFeI
https://dl.doubtnut.com/l/_OqAL2c9SC0MS


B. no solution

C. bounded solution

D. unique solution

Answer: B

Watch Video Solution

67. Solution set of inequalities

A. empty

B. closed half plane

C. infinite

D. first quadrant

Answer: C

Watch Video Solution

x − 2y ≥ 0, − 2x − y + 2 ≤ 0, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_OqAL2c9SC0MS
https://dl.doubtnut.com/l/_qjTTt3hfLSng


68. The region represented by the inequations

 is

A. a polygon

B. unbounded

C. bonded

D. null region

Answer: B

Watch Video Solution

2x + 3y ≤ 18, x + y ≥ 10, x ≥ 0, y ≤ 0

69. Shaded region of the constraints  is

A. 

x + y ≤ 5, 0 ≤ x ≤ 4, 0 ≤ y ≤ 2

https://dl.doubtnut.com/l/_qjTTt3hfLSng
https://dl.doubtnut.com/l/_Tzr9QZjfQJHo
https://dl.doubtnut.com/l/_2CiwhAEfUJug


B. 

C. 

D. 

Answer: C

Watch Video Solution

70. Shaded, region of the constraints

 is4x + 3y ≤ 12, − x + y ≤ 2, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_2CiwhAEfUJug
https://dl.doubtnut.com/l/_BtjyAfkZ46pP


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_BtjyAfkZ46pP
https://dl.doubtnut.com/l/_6a8ABMANFycB


71. Shaded, region of the constraints

 is

A. 

B. 

C. 

D. 

Answer: B

x + y ≥ 5, 2x + 3y ≤ 18, 4x + 3y ≤ 24, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_6a8ABMANFycB


Watch Video Solution

72. Shaded, region of the constraints  is

A. 

B. 

C. 

10x + 2y ≥ 20, x + y ≥ 6

https://dl.doubtnut.com/l/_6a8ABMANFycB
https://dl.doubtnut.com/l/_izyCQ8LntkNw


D. 

Answer: C

Watch Video Solution

73. Shaded,region of the constraints

 is

A. 

B. 

4x + y ≥ 4, x + 3y ≥ 6, x + y ≥ 3, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_izyCQ8LntkNw
https://dl.doubtnut.com/l/_n1Ux2boquTMj


C. 

D. 

Answer: A

Watch Video Solution

74. The solution set of the inequation  is

A. half plane that contains the origin

B. open half plane not containing the origin

C. whole XY-plane except the points lying on line 

D. half plane not containing the origin

2x + y > 5

2x + y = 5

https://dl.doubtnut.com/l/_n1Ux2boquTMj
https://dl.doubtnut.com/l/_pqI8bS0yJfwL


Answer: B

Watch Video Solution

75. The solution set of the inequation  is

A. half plane containing the origin

B. half plane not containing the origin

C. the whole XY-plane except point lying on line 

D. open half plane not containing the origin

Answer: B

Watch Video Solution

x + 2y ≥ 3

x + 2y − 3 = 0

76. The solution set of  is

A. half plane not containing origin

3x + 2y ≤ 6

https://dl.doubtnut.com/l/_pqI8bS0yJfwL
https://dl.doubtnut.com/l/_h2LNZDqTGYhl
https://dl.doubtnut.com/l/_zbBdymTp5XMl


B. half plane containing the points lying on line  and

origin

C. XY-plane except points on line 

D. half plane not containing the points lying on line  and

origin

Answer: B

Watch Video Solution

3x + 2y = 6

3x + 2y = 6

3x + 2y = 6

77. The solution set of the inequations 

A. lies in first and second quadrants

B. lies in second and third quadrants

C. lies in third and fourth quadrants

D. lies in fourth and first quadrants

Answer: D

x ≤ 4, x − y ≥ 0, 3x + y ≥ 0

https://dl.doubtnut.com/l/_zbBdymTp5XMl
https://dl.doubtnut.com/l/_PoOAQZ3EVtJ9


Watch Video Solution

78. The lines  form

A. a square

B. a rhombus

C. a triangle

D. a quadrilateral

Answer: D

Watch Video Solution

5x + 4y ≥ 20, x ≤ 6, y ≤ 4, x ≥ 0, y ≥ 0

79. The common region represented by inequalities

 is

A. a triangle

B. a quadrilateral

y ≤ 2, x + y ≤ 3, − 2x + y ≤ 1, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_PoOAQZ3EVtJ9
https://dl.doubtnut.com/l/_n4G2waWv9E6p
https://dl.doubtnut.com/l/_jJyOwSVcUbGS


C. a square

D. a pentagon

Answer: D

Watch Video Solution

80. The common region represented by inequalities

 is

A. a triangle

B. a rectangle

C. a square

D. a pentagon

Answer: B

Watch Video Solution

0 ≤ x ≤ 6, 0 ≤ y ≤ 4

https://dl.doubtnut.com/l/_jJyOwSVcUbGS
https://dl.doubtnut.com/l/_qzVzQFxlsErU
https://dl.doubtnut.com/l/_Ukchu21rChod


81. The shaded part of the given figure indicates the feasible region 

 


Then the constraints are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x, y ≥ 0, x + y ≥ 0, x ≥ 5, y ≤ 3

x, y ≥ 0, x − y ≥ 0, x ≤ 5, y ≤ 3

x, y ≥ 0, x − y ≥ 0, x ≤ 5, y ≥ 3

x, y ≥ 0, x − y ≤ 0, x ≤ 5, y ≤ 3

https://dl.doubtnut.com/l/_Ukchu21rChod


82. Feasible region is represented by 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2x + 5y ≥ 80, x + y ≤ 20, x ≥ 0, y ≥ 0

2x + 5y ≤ 80, x + y ≥ 20, x ≥ 0, y ≥ 0

2x + 5y ≥ 80, x + y ≥ 20, x ≥ 0, y ≥ 0

2x + 5y ≤ 80, x + y ≤ 20, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_2AtmRtqU1y0g


83. The vertex of the linear inequalities

 is

A. (1,0)

B. (1,1)

C. 

D. 

Answer: C

Watch Video Solution

2x + 3y ≤ 6, x + 4y ≤ 4, x ≥ 0, y ≥ 0

,
12

5

2

5

,
2

5

12

5

84. The solution set of the constraints

 includes the

point

A. (2,3,)

B. (3,2)

x + y ≤ 11, 3x + 2y ≥ 25, 2x + 5y ≥ 20, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_71pUdGEQS07D
https://dl.doubtnut.com/l/_grit9PPGurMR


C. (3,8)

D. (4,3)

Answer: C

Watch Video Solution

85. The corner points of common region are, if

A. (9,0),(2,5),(0,9)

B. (9,0),(2,5),(2,5)

C. (9,0),(2,5),(0,9)

D. (9,0),(5,2),(2,5),(0,9)

Answer: D

Watch Video Solution

2x + y ≥ 9, x + 2y ≥ 9, x + y ≥ 7 and x ≥ 0, y ≥ 0,

https://dl.doubtnut.com/l/_grit9PPGurMR
https://dl.doubtnut.com/l/_davE97IPz5qR
https://dl.doubtnut.com/l/_7wFkwE7r6rid


86. A company manufactures two types of chemicals A and B. Each

chemical requires the types of raw materials P and Q. The table below

shows number of units of P and Q required to manufacture one unit of A

and one unit of B and the total availability of P and Q. 

 


The company gets profit of Rs. 350 and RS.400 by selling one unit of A

and one unit of B respectively. If the entire production of A and B is sold,

then formulate the problem as LPP.

A. Maximize  subject to 

B. Maximize  subject to 

C. Maximize  subject to 

z = 350x + 400y

3x + 2y ≥ 120, 2x + 5y ≤ 160, x ≥ 0, y ≥ 0

z = 350x + 400y

3x + 2y ≤ 120, 2x + 5y ≥ 160, x ≥ 0, y ≥ 0

z = 350x + 400y

3x + 2y ≤ 120, 2x + 5y ≤ 160, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_7wFkwE7r6rid


D. Maximize  subject to 

Answer: C

Watch Video Solution

z = 350x + 400y

3x + 2y ≥ 120, 2x + 5 ≥ 160, x ≥ 0, y ≥ 0

87. A furniture manufacturer produces tables and bookshelves made up

of wood and steel. The weekly reuqirement of wood and steel is given as

below. 

 


The weekly availability of wood and steel is 450 and 100 units respectively.

Profit on a table is Rs.1000 and that on a book shelf is Rs. 1200. To

https://dl.doubtnut.com/l/_7wFkwE7r6rid
https://dl.doubtnut.com/l/_Y3XzLf61FY0j


determine the number of tables and book shelves to be produced every

week in order to maximize the total profit, formulate the problem as L.P.P.

A. Maximize  subject to 

B. Maximize  subject to 

C. Maximize  subject to 

D. Maximize  subject to 

Answer: A

Watch Video Solution

z = 1000x + 1200y

8x + 11y ≤ 450, 2x + 3y ≤ 100, x ≥ 0, y ≥ 0

z = 1000x + 1200y

8x + 11y ≥ 450, 2x + 3y ≥ 100, x ≥ 0, y ≥ 0

z = 1000x + 1200y

8x + 11y ≥ 450, 2x + 3y ≤ 100, x ≥ 0, y ≥ 0

z = 1000x + 1200y

8x + 11y ≤ 450, 2x + 3y ≥ 100, x ≥ 0, y ≥ 0

88. Diet of a sick person must contains at least 4000 units of vitamins, 50

units of minerals and 2500 calories. Two foods  cost Rs. 50 andF1 and F2

https://dl.doubtnut.com/l/_Y3XzLf61FY0j
https://dl.doubtnut.com/l/_k2NKYjdxGUTM


Rs. 75 per unit respectively. Each unit of food  contains 200 units of

vitamins, 2 units of minerals and 40 calories F_(2)` contains 100 units of

vitamins, 3 units of minerals and 35 calories. Formulate the above

problem as LPP to fulfil sick person's requirements at minimum cos.

A. Maximized  subject to 

B. Maximized  subject to 

C. Maximized  subject to 

D. Maximized  subject to 

Answer: D

Watch Video Solution

F1

,

z = 50x = 75y

200x + 100y ≥ 4000, 2x + 3y ≥ 50, 40x + 35y ≤ 2500, x ≥ 0, y ≥ 0

z = 50x = 75y

200x + 100y ≤ 4000, 2x + 3y ≥ 50, 40x + 35y ≥ 2500, x ≥ 0, y ≥ 0

z = 50x = 75y

200x + 100y ≥ 4000, 2x + 3y ≤ 50, 40x + 35y ≥ 2500, x ≥ 0, y ≥ 0

z = 50x = 75y

200x + 100y ≥ 4000, 2x + 3y ≥ 50, 40x + 35y ≥ 2500, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_k2NKYjdxGUTM


89. A printing company prints two types of magzines A and B. The

company earns Rs. 20 and Rs. 30 on each copy of magazines A and B

respectively. The magazine A requires 2 hours on machine I, 4 hours on

Machine II and 2 hours machine III. Magazine B requires 3 hours on

machine I, 5 hours on machine II and 3 hours on machine III. Machines I,II,

III are available for 35, 50 and 70 hours per week respectively. Formulate

the LPP to determine weekly production of magazines A and B, so that the

total profit is maximum

A. Maximize  subject to 

B. Maximize  subject to 

C. Maximize  subject to 

D. Maximize  subject to 

z = 20x + 3y

2x + 3y ≤ 35, 4x + 5y ≤ 50, 2x + 3y ≥ 70, x ≥ 0, y ≥ 0

z = 20x + 3y

2x + 3y ≤ 35, 4x + 5y ≤ 50, 2x + 3y ≤ 70, x ≥ 0, y ≥ 0

z = 20x + 3y

2x + 3y ≤ 35, 4x + 5y ≥ 50, 2x + 3y ≤ 70, x ≥ 0, y ≥ 0

z = 20x + 3y

2x + 3y ≥ 35, 4x + 5y ≤ 50, 2x + 3y ≤ 70, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_KfW4EpAuosUV


Answer: B

Watch Video Solution

90. A dealer wishes to purchase table fans and ceiling fans. He has Rs.

57,600 to invest, and has space to store 40 items. A table fan costs Rs. 750

and ceiling fan costs Rs. 900. He can make profits of Rs. 70 and Rs. 90 by

selling a table fan and a ceiling fan respectively. If dealer sell all the fans

that he buy, the formulate this problem as LPP, to maximize the profit.

A. Maximize  subject to 

B. Maximize  subject to 

C. Maximize  subject to 

z = 70x + 90y

750x + 900y ≤ 57600, x + y ≤ 40, x ≥ 0, y ≥ 0

z = 70x + 90y

750x + 900y ≥ 57600, x + y ≤ 40, x ≥ 0, y ≥ 0

z = 70x + 90y

750x + 900y ≤ 57600, x + y ≥ 40, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_KfW4EpAuosUV
https://dl.doubtnut.com/l/_IfxNY0pIT8pq


D. Maximize  subject to 

Answer: A

Watch Video Solution

z = 70x + 90y

750x + 900y ≥ 57600, x + y ≥ 40, x ≥ 0, y ≥ 0

91. Shalmali wanto to invest Rs. 50,000 in saving certificates and PPF. She

went to invest at least Rs. 15,000 in saving certificates and at least Rs.

20,000 in PPF. The rate of interest on saving certificates is 8% p.a. and on

PPF is 9% p.a. Formulate the LPP for maximun yearly income.

A. Maximize  subject to 

B. Maximize  subject to 

C. Maximize  subject to 

z = 0.08x + 0.09y

x + y ≤ 50000, x ≤ 15000, y ≥ 20000, x ≥ 0, y ≥ 0

z = 0.08x + 0.09y

x + y ≤ 50000, x ≥ 15000, y ≤ 20000, x ≥ 0, y ≥ 0

z = 0.08x + 0.09y

x + y ≤ 50000, x ≥ 15000, y ≥ 20000, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_IfxNY0pIT8pq
https://dl.doubtnut.com/l/_Y79C8bJu9bPt


D. Maximize  subject to 

Answer: C

Watch Video Solution

z = 0.08x + 0.09y

x + y ≤ 50000, x ≤ 15000, y ≤ 20000, x ≥ 0, y ≥ 0

92. If a motorcyclist rides at a speed of 50 km/hr, he has to spend Rs. 2 per

km on petrol. If he rides at a faster speed of 70 km/hr, the petrol cost

increases to Rs. 2.5 per km. He has Rs. 500 To spend on petrol and wishes

to travel maximum distance within an hour. Formulate as LPP.

A. Maximize  subject to 

B. Maximize  subject to 

C. Maximize  subject to 

z = x + y

+ ≤ 1, 2x + 2.5y ≥ 500, x ≥ 0, y ≥ 0
x

50

y

70

z = x + y

+ ≤ 1, 2x + 2.5y ≤ 500, x ≥ 0, y ≥ 0
x

50

y

70

z = x + y

+ ≥ 1, 2x + 2.5y ≤ 500, x ≥ 0, y ≥ 0
x

50

y

70

https://dl.doubtnut.com/l/_Y79C8bJu9bPt
https://dl.doubtnut.com/l/_0LIsDvKjSKhq


D. Maximize  subject to 

Answer: B

Watch Video Solution

z = x + y

+ ≥ 1, 2x + 2.5y ≥ 500, x ≥ 0, y ≥ 0
x

50

y

70

93. Two different kinds of foods A and B are being considered to form a

weekly diet. The minimum weekly requirment of fats, carbohydrates and

proteins are 17,28 and 14 units respectively. One kg of food A has 5 units

of fat, 12 units of carbohydrates and 7 units of protein. One kg of food B

has 7 units of fat, 15 units of carbohydrates and 9 units of protein. The

price of food A is Rs. 5 per kg. and that of food B is Rs. 7 per kg. Form the

LPP to minimize the cost.

A. Minimize  subject to z = 5x + 7y

5x + 7y ≤ 17, 12x + 15y ≥ 28, 7x + 9y ≥ 14, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_0LIsDvKjSKhq
https://dl.doubtnut.com/l/_DoYxNtiyaDW6


B. Minimize  subject to 

C. Minimize  subject to 

D. Minimize  subject to 

Answer: D

Watch Video Solution

z = 5x + 7y

5x + 7y ≥ 17, 12x + 15y ≤ 28, 7x + 9y ≥ 14, x ≥ 0, y ≥ 0

z = 5x + 7y

5x + 7y ≥ 17, 12x + 15y ≥ 28, 7x + 9y ≤ 14, x ≥ 0, y ≥ 0

z = 5x + 7y

5x + 7y ≥ 17, 12x + 15y ≥ 28, 7x + 9y ≥ 14, x ≥ 0, y ≥ 0

94. A shop keeper sells to two items, colour T.V. sets and DVD players. He

can invest Rs. 12,00,000 and can store only 750 items. The cost of color TV

and DVD player is Rs. 6500 and Rs. 2800 respectively. He can sell these

items at a price of Rs. 8600 and Rs. 3900 respectively. Form the LPP to

maximize the profit.

https://dl.doubtnut.com/l/_DoYxNtiyaDW6
https://dl.doubtnut.com/l/_f3iwm77fIKFM


A. Maximize  subject to 

B. Maximize  subject to 

C. Maximize  subject to 

D. Maximize  subject to 

Answer: B

Watch Video Solution

z = 2100x + 1100y

6500x + 2800y ≤ 1200000, x + y ≥ 750, x ≥ 0, y ≥ 0

z = 2100x + 1100y

6500x + 2800y ≤ 1200000, x + y ≤ 750, x ≥ 0, y ≥ 0

z = 2100x + 1100y

6500x + 2800y ≥ 1200000, x + y ≤ 750, x ≥ 0, y ≥ 0

z = 2100x + 1100y

6500x + 2800y ≥ 1200000, x + y ≥ 750, x ≥ 0, y ≥ 0

95. A factory makes two types of biscuit  that cost Rs. 145 and

Rs. 160 per kg. respectively. The minimum quantities of flour, sugar and

butter to be ordered for the for the factory are 600kg, 400 kg and 250 kg

respectively to make the biscuits. Variety  requires 700 gms of flour,

B1 and B2

B1

https://dl.doubtnut.com/l/_f3iwm77fIKFM
https://dl.doubtnut.com/l/_2gCJbxa20jSd


200 gms of sugar and 100 gms. of butter to prepare 1 kg of biscuits. The

variety  requires 600 gms of flour, 300 gms of sugar and 200 gms of

butter to prepare 1 kg of biscuits. Formulate the above LPP to minimize

the cost.

A. Minimize  subject to 

B. Minimize  subject to 

C. Minimize  subject to 

D. Minimize  subject to 

Answer: A

Watch Video Solution

B2

z = 145x + 160y

0.7x + 0.6y ≥ 600, 0.2x + 0.3y ≥ 400, 0.1x + 0.2y ≥ 250, x ≥ 0, y ≥

z = 145x + 160y

0.7x + 0.6y ≥ 600, 0.2x + 0.3y ≥ 400, 0.1x + 0.2y ≤ 250, x ≥ 0, y ≥

z = 145x + 160y

0.7x + 0.6y ≥ 600, 0.2x + 0.3y ≤ 400, 0.1x + 0.2y ≥ 250, x ≥ 0, y ≥

z = 145x + 160y

0.7x + 0.6y ≤ 600, 0.2x + 0.3y ≥ 400, 0.1x + 0.2y ≥ 250, x ≥ 0, y ≥

https://dl.doubtnut.com/l/_2gCJbxa20jSd


96. An aeroplane can carry a maximum of 250 passengers. A profit of Rs.

1500 is made on each executive class ticket and a profit of Rs. 900 made

on each economy class ticket. the airline reserves at least 30 seats ofr

executive class. However at least 4 times as many passengers perfer to

travel by economomy class than by excutive class. Formulate LPP in order

to maximize the profit for the airline.

A. Minimize  subject to 

B. Minimize  subject to 

C. Minimize  subject to 

D. Minimize  subject to 

Answer: B

z = 1500x + 900y

x + y ≤ 250, x ≤ 30, y ≥ 4x, x ≥ 0, y ≥ 0

z = 1500x + 900y

x + y ≤ 250, x ≥ 30, y ≥ 4x, x ≥ 0, y ≥ 0

z = 1500x + 900y

x + y ≥ 250, x ≥ 30, y ≥ 4x, x ≥ 0, y ≥ 0

z = 1500x + 900y

x + y ≥ 250, x ≥ 30, y ≥ 4x, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_goVPE7R1aYX0


Watch Video Solution

97. Two tailors P and Q earn Rs. 350 and Rs. 450 per day respectively. Tailor

P can stitch 6 shirts and 3 trousers while tailor Q can stitch 7 shirts and 3

trousers per day. Formulate the LPP, if it is desired to produce at least 51

shrits and 24 trousers at a minimum labour cost?

A. Minimize  subject to 

B. Minimize  subject to 

C. Minimize  subject to 

D. Minimize  subject to 

Answer: C

W t h Vid S l ti

z = 350x + 450y

6x + 7y ≤ 51, 3x + 3y ≥ 24, x ≥ 0, y ≥ 0

z = 350x + 450y

6x + 7y ≥ 51, 3x + 3y ≤ 24, x ≥ 0, y ≥ 0

z = 350x + 450y

6x + 7y ≥ 51, 3x + 3y ≥ 24, x ≥ 0, y ≥ 0

z = 350x + 450y

6x + 7y ≤ 51, 3x + 3y ≤ 24, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_goVPE7R1aYX0
https://dl.doubtnut.com/l/_RxovZBtN5Uio


Watch Video Solution

98. A diet of sick person contains at least 48 units of vitamin A and 64

uints of vitamin B. Two foods  are available . Food  costs Rs.

6 per unit and food  costs Rs. 10 per unit. One unit of food  contains

6 units of vitamin A and 7 units of vitamin B. One unit of of food 

contain 8 units of vitamin A and 12 units of vitamin B. Formulate the LPP,

for the minimum cost for the diet that consists of mixture of these two

foods and also meeting the minimal nutrition requirements

A. Minimize  subject to 

B. Minimize  subject to 

C. Minimize  subject to 

D. Minimize  subject to 

F1 and F2 F1

F2 F1

F2

z = 6x + 10y

6x + 8y ≤ 48, 7x + 12y ≥ 64, x ≥ 0, y ≥ 0

z = 6x + 10y

6x + 8y ≥ 48, 7x + 12y ≤ 64, x ≥ 0, y ≥ 0

z = 6x + 10y

6x + 8y ≥ 48, 7x + 12y ≥ 64, x ≥ 0, y ≥ 0

z = 6x + 10y

6x + 8y ≤ 48, 7x + 12y ≤ 64, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_RxovZBtN5Uio
https://dl.doubtnut.com/l/_GsUmE1HI74Vc


Answer: C

Watch Video Solution

99. The construction company uses concrete blocks made up of cement

and sand. The weight of a concrete block has to be at least 5kg. Cement

costs Rs. 20 per kg. while sand costs Rs. 6 per kg. Strength consideration

dictate that the concrete block should contain minimum 4 kg. of cement

and not more than 2 kg. of sand. Form the LPP for the cost to be

minimum.

A. Maximize  subject to 

B. Maximize  subject to 

C. Maximize  subject to 

z = 20x + 6y

x + y ≥ 5, x ≤ 4, y ≤ 2, x ≥ 0, y ≥ 0

z = 20x + 6y

x + y ≥ 5, x ≤ 4, y ≥ 2, x ≥ 0, y ≥ 0

z = 20x + 6y

x + y ≥ 5, x ≥ 4, y ≥ 2, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_GsUmE1HI74Vc
https://dl.doubtnut.com/l/_F279VlKGYZ6O


D. Maximize  subject to 

Answer: D

Watch Video Solution

z = 20x + 6y

x + y ≥ 5, x ≥ 4, y ≤ 2, x ≥ 0, y ≥ 0

100. An owner of a lodge plans a extension which contains not more than

50 rooms. At least 5 must be executive single rooms. The number of

executive double rooms should be at least 3 times the number of

executive single rooms. He charges Rs. 1800 for executive single rooms

per day and Rs.3000 for executive double room. Formulate the above

problem as LPP to maximize the profit.

A. Maximize  subject to 

B. Maximize  subject to 

z = 1800x + 3000y

x + y ≤ 50, x ≥ 5, y ≤ 3x, x ≥ 0, y ≥ 0

z = 1800x + 3000y

x + y ≤ 50, x ≤ 5, y ≥ 3x, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_F279VlKGYZ6O
https://dl.doubtnut.com/l/_QeczYk2KHgHr


C. Maximize  subject to 

D. Maximize  subject to 

Answer: A

Watch Video Solution

z = 1800x + 3000y

x + y ≤ 50, x ≥ 5, y ≥ 3x, x ≥ 0, y ≥ 0

z = 1800x + 3000y

x + y ≤ 50, x ≤ 5, y ≤ 3x, x ≥ 0, y ≥ 0

101. The objective function off LPP defined over the convex set attains it

optimum value at

A. at least two of the corner points

B. all the corner points

C. at least one of the corner points

D. none of the corner points

Answer: C

https://dl.doubtnut.com/l/_QeczYk2KHgHr
https://dl.doubtnut.com/l/_wVOiuwWGHG4Y


Watch Video Solution

https://dl.doubtnut.com/l/_wVOiuwWGHG4Y

